Notice for appointment of Regular / Rural Retail Outlet Dealerships

Hindustan Petroleum Corporation limited proposes to appoint Retail Outlet dealers in the State of Gujarat, as per following details:

			Type of RO		Category	Type of Site	Minimum D	Dimentsion (site in Sqm	in Mt)/ Area of *	Finance to ap	be arraned by plicant	Mode of Selection		
SR NO	Location Name	Revenue District	Rural/ Regular	Estimated Monthly Sales potential (MS+HSD) #	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC CC-1 OBC CC-1 OBC PH OPEN CC-1 OPEN CC-1 OPEN CC-2 OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of lots/Bidding	Fixed Fee / Minimum Bid amount	Security Deposit
1	2 ANY WHERE IN GHUMA	3	4	5	6	7	8A	8B	8C	9A	9B	10 DRAW OF LOTS	11	12
2	ON RHS OF NH 68 WHILE GOING FROM THARAD CHOKDI	AHMEDABAD	REGULAR	400	OPEN OBC	DC DC	25 40	30 40	750 1600	32	75 95	DRAW OF LOTS	15 15	5
	TOWARDS CHARDA BETWEEN KM STONE NO. 20 AND 25 ON LHS OF RAJKOT TO					-							-	
3	AHMEDABAD HIGHWAY NH47	SURENDRANAGAR	REGULAR	245	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
4	ANYWHERE IN BOPAL ANYWHERE IN JORAVARNAGAR, TALUKA WADHWAN	AHMEDABAD SURENDRANAGAR	REGULAR REGULAR	400	OPEN OPEN	DC DC	30 20	30 20	900 400	32 32	75 55	DRAW OF LOTS DRAW OF LOTS	15 15	5
6	FROM ODHAV CIRCLE UPTO VILLAGE KANBHA ON LHS OF NH47 TOWARDS VILLAGE KANBHA	AHMEDABAD	REGULAR	400	овс	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
7	WITHIN 4 KM FROM CIVIL COURT HARIJ TOWARDS	PATAN	REGULAR	155	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
8	BORATWADA ON LHS OF HARIJ PATAN ROAD SH 10 ANYWHERE IN KHODIYAR, DISTRICT GANDHINAGAR	GANDHINAGAR	REGULAR	425	OPEN	сс	30	30	900	32	12	BIDDING	30	5
9	ANYWHERE IN VILLAGE KATHWADA ON KATHWADA SINGARWA MAIN ROAD	AHMEDABAD	REGULAR	200	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
10	FROM LAALGEBI CIRCLE (HATHIJAN CIRCLE) TO JASHODANAGAR CROSS ROAD ON JASHODANAGAR ROAD(VATVA GIDC ROAD)	AHMEDABAD	REGULAR	300	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
11	VILLAGE SONARDA ON LHS OF SH-68 WHILE GOING FROM DEHGAM TO NARODA	GANDHINAGAR	REGULAR	108	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
12	BETWEEN KM STONE NO. 32 AND 34 ON SARA MULI ROAD SH21	SURENDRANAGAR	REGULAR	165	sc	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
13	ON LHS OF SH133 WITHIN 2 KM OF INTERSECTION OF SH138 MANSA KALOL RD AND SH133 WHILE TRAVELLING FROM GANDHINAGAR TO CHHATRAL	GANDHINAGAR	REGULAR	140	ОВС	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
14	WITHIN 4 KMS FROM SANTOKBA KANYA VIDYAYALA,ON RHS WHILE GOING FROM PANTHAWADA TO GUNDARI , ON NH 168 PANTHAWADA GUNDARI ROAD	BANASKANTHA	REGULAR	280	OPEN CC-1	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
15 16	BETWEEN VILLAGE TENPUR AND JITPUR ON STATEHIGHWAY SH 69 ANYWHERE IN GHUMA	ARVALLI AHMEDABAD	REGULAR	160 150	OPEN ST	DC CFS	35 25	35 25	1225 625	32	75	DRAW OF LOTS	15 0	5
17	ON LHS BETWEEN BPCL SIDDHPUR TERMINAL AND KAKOSHI CHAR RASTA ON SH 41(PALANPUR AHMEDABAD HIGHWAY)	PATAN	REGULAR	195	ОВС	DC	40	40	1600	32	75	DRAW OF LOTS	15	4
18	BETWEEN KM STONE NO. 60 AND 70 ON LHS OF AHMEDABAD TO RAJKOT NH47	SURENDRANAGAR	REGULAR	220	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
19	BETWEEN KM STONE NO. 8 AND 15 ON LHS OF RAJKOT TO	SURENDRANAGAR	REGULAR	323	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
20	AHMEDABAD HIGHWAY NH47 AT VILLAGE VITTHALPARA ON LHS OF SH 17 WHILE GOING	SURENDRANAGAR		170	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
20	FROM LAKHTAR TO VIRAMGAM ON LHS OF CONNECTING ROAD FROM YMCA SIGNAL ON SG HIGHWAY TO SARDAR PATEL RING ROAD	AHMEDABAD	REGULAR	310	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
22	BETWEEN KM STONE NUMBER 2 AND 4 ON SH-08 HIGHWAY ON LHS WHILE GOING FROM VATAMAN TO BAGODARA	AHMEDABAD	REGULAR	170	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
23	ON EITHER SIDE OF NEW VATVA ROAD BETWEEN ISHANPUR CHAR RASTA (ON NAROL-NARODA ROAD) AND S.P.RING ROAD	AHMEDABAD	REGULAR	180	OPEN CC-2	DC	20	20	400	32	75	DRAW OF LOTS	15	5
24	ANYWHERE IN VASTRAL ON SARDAR PATEL RING ROAD	AHMEDABAD	REGULAR	300	OBC CC-1	DC	40	40	1600	32	75	DRAW OF LOTS	15	4
25	FROM SHAMLAJI FOREST CHECK POST ON LHS OF NH 48 TOWARDS UDAIPUR	ARVALLI	REGULAR	160	SC CC-1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
26	ON LHS OF SG HIGHWAY FROM SANATHAL CIRCLE TO KARNAWATI CLUB	AHMEDABAD	REGULAR	450	OPEN	DC	25	30	750	32	75	DRAW OF LOTS	15	5
27	FROM ADALAJ CIRCLE TO ZUNDAL CIRCLE ON LHS OF SH41	GANDHINAGAR	REGULAR	210	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
28	WITHIN PALANPUR MUNICIPAL LIMIT ON PALANPUR - KANTHARIA HANUMAN TEMPLE ROAD .	BANASKANTHA	REGULAR	200	OBC	сс	25	25	625	32	12	BIDDING	30	4
29	FROM ASLALI CIRCLE UPTO VATVA RING ROAD CIRCLE ON LHS OF SARDAR PATEL RING ROAD	AHMEDABAD	REGULAR	500	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
30	IN VILLAGE KOLAVADA ON LHS OF ROAD CONNECTING VILLAGE KOLAVADA WITH GANDHINAGAR CITY	GANDHINAGAR	REGULAR	240	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
31	ON AIRPORT ROAD WHILE MOVING FROM INFINIUM TOYATA SHOWROOM (NARODA) TOWARDS AIRPORT CIRCLE (LHS) ANYWHERE IN SHAHIBAGH, AHMEDABAD CITY	AHMEDABAD	REGULAR	220	OPEN	DC DC	25 35	25	625 1225	32	75	DRAW OF LOTS	15 15	5
33	ON CONNECTING ROAD BETWEEN WONDER POINT COMPLEX TILL INTERSECTION OF SHANKAR ESTATE & MOTI CANAL ROAD	AHMEDABAD	REGULAR	400	OPEN	DC	25	20	500	32	75	DRAW OF LOTS	15	5
34	BETWEEN KM STONE NO. 60 AND 70 ON LHS OF RAJKOT TO AHMEDABAD NH47	SURENDRANAGAR	REGULAR	220	sc	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
35	ON LHS OF SH-17 (SANAND-VIRAMGAM HIGHWAY) BETWEEN KM STONE NUMBER 35 & 45	AHMEDABAD	REGULAR	105	OPEN	сс	35	35	1225	32	12	BIDDING	30	5
36	WITHIN 2 KMS OF VILLAGE HADAD ON HADAD- KHEDBRAHMA HIGHWAY AMBAJI HIGHWAY	BANASKANTHA	REGULAR	160	ОВС	сс	45	45	2025	32	12	BIDDING	30	4
37	ON ROAD CONNECTING SHALBY HOSPITAL, NARODA WITH GANGOTRI CIRCLE ,NIKOL	AHMEDABAD	REGULAR	210	OPEN CC-1	DC	25	25	625	32	75	DRAW OF LOTS	15	5
38	GANGOTRI CIRCLE ,NIKOL FROM RAMOL TOLL PLAZA UPTO HAATHIJAN CIRCLE ON LHS OF SARDAR PATEL RING ROAD	AHMEDABAD	REGULAR	625	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
39	WITHIN 3 KM OF SHREE RAM VIDYALAYA PALANPUR, ON BANAS DAIRY ROAD	BANASKANTHA	REGULAR	190	ОВС	DC	30	30	900	32	55	DRAW OF LOTS	15	4
40	ON LHS OF NH-47, WITHIN 2 KM FROM SANATHAL CHOWKDI TOWARDS RAJKOT	AHMEDABAD	REGULAR	230	OPEN	сс	40	40	1600	32	12	BIDDING	30	5
41	ON LHS OF ROAD FROM NARAYANA MULTI SPECIALITY	AHMEDABAD	REGULAR	200	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
	HOSPITAL TO ODHAV FIRE STATION WITHIN 4 KM FROM DHANU KRUSHI BAZAR, GUNDARI ON													
42	LEFT HAND SIDE WHILE GOING FROM PANTHAWADA TO GUNDARI ON NH 168. FROM VATAVA RING ROAD CIRCLE UPTO HAATHIJAN CIRCLE	BANASKANTHA	REGULAR	330 500	OBC ST	CC CFS	40 40	40	1600	32	12 0	BIDDING DRAW OF LOTS	30 0	4
44	ON LHS OF SARDAR PATEL RING ROAD ON LHS OF SARDAR PATEL RING ROAD FROM JUNCTION OF	AHMEDABAD	REGULAR	250	OPEN	DC	40	40	1600	32	75	DRAW OF LOTS	15	5
	SCIENCE CITY TO SHILAJ CIRCLE ON LHS OF SARDAR PATEL RING ROAD FROM SANATHAL													
45	CIRCLE TO SHANTIPURA CIRCLE	AHMEDABAD	REGULAR	240	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5

			Type of RO		Category	Type of Site	Minimum (Dimentsion (site in Sqm	in Mt)/ Area of *	Finance to ap	be arraned by plicant	Mode of Selection		
SR NO	Location Name	Revenue District	Rural/ Regular	Estimated Monthly Sales potential (MS+HSD) #	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC CC-1 OBC CC-1 OPEN CC-2 OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of lots/Bidding	Fixed Fee / Minimum Bid amount	Security Deposit
46	WITHIN 4 KMS OF INTERSECTION OF SH 72 AND NH68 (GAI CIRCLE) ON BHABHAR RADHANPUR ROAD, NH 68 ON RHS WHILE GOING FROM BHABHAR TO RADHANPUR	BANASKANTHA	REGULAR	160	овс	DC	40	40	1600	32	95	DRAW OF LOTS	15	4
47	ON LHS OF NEW SCIENCE CITY ROAD FROM SARDAR PATEL RING ROAD TO SG HIGHWAY	AHMEDABAD	REGULAR	240	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
48	ON SH 7 (VIRAMGAM-BECHARAJI HIGHWAY) BETWEEN KMSTONE NO 27 AND 32 TOWARDS VIRAMGAM	AHMEDABAD	REGULAR	102	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
49 50	AT VILLAGE VADGAS ON SH 7 ON EITHER SIDE OF ROAD CONNECTING GANESH SKYLINE TO CHANDLODIA LAKE	AHMEDABAD	REGULAR	200	OPEN OBC PH	DC	35 25	35 30	1225 750	32 32	75	DRAW OF LOTS DRAW OF LOTS	15 15	5
51	AT VILLAGE GADHAD, TALUKA MULI ON SH113	SURENDRANAGAR	REGULAR	165	SC PH	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
52	ON NIKOL CANAL ROAD BETWEEN NEW CANAL GARDEN AND SRP CAMPUS UNIT -2	AHMEDABAD	REGULAR	160	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
53 54	ANYWHERE WITHIN 2 KM OF BAGHBAN PARTY PLOT WITHIN SURENDRANAGAR-DUDHREJ NAGARPALIKA LIMITS	AHMEDABAD	REGULAR	280	OPEN OBC	DC CC	30 30	30 30	900	32	75	DRAW OF LOTS BIDDING	15 30	5
55	UPTO 4 KMS FROM JUNCTION OF SH 41 AND NH 27 (AROMA CIRCLE PALANPUR) TOWARDS IQBALGADH ON NH 27	BANASKANTHA	REGULAR	150	OPEN	сс	40	40	1600	32	12	BIDDING	30	5
56	ON LHS OF VIP ROAD FROM SIDDHI HANUMANJI CIRCLE TILL SARDAR PATEL RING ROAD	AHMEDABAD	REGULAR	230	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
57	VILLAGE TOTANA ON SH 864	BANASKANTHA	REGULAR	190	OPEN	СС	40	40	1600	32	12	BIDDING	30	5
58	WITHIN MUNICIPALITY LIMITS OF BAREJA, DISTRICT AHMEDABAD	AHMEDABAD	REGULAR	140	OBC	DC	30	30	900	32	55	DRAW OF LOTS	15	4
59 60	WITHIN NAGARPALIKA LIMITS OF SIDHPUR ON LHS OF HIMMATNAGAR BYPASS ROAD WHILE COMING	PATAN SABARKANTHA	REGULAR	150 235	OPEN SC	DC CFS	30 35	30 35	900 1225	32	55	DRAW OF LOTS DRAW OF LOTS	15 0	5
61	FROM IDAR TILL RTO HIMMATNAGAR IN BETWEEN KM STONE NOS 517 AND 520 ON LHS ON	BANASKANTHA	REGULAR	160	ОВС	cc	40	40	1600	32	12	BIDDING	30	4
62	NH27 WHILE GOING FROM RADHANPUR TO DEESA. WITHIN 2 KM OF CIVIL COURT VIRAMGAM	AHMEDABAD	REGULAR	170	OPEN	cc	30	30	900	32	12	BIDDING	30	5
63	WITHIN 5 KM OF KOBADI TOLL PLAZZA TOWARDS BHAVNAGAR ON LHS OF NH 51	BHAVNAGAR	REGULAR	205	OPEN CC-1	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
64 65	WITHIN DHANERA NAGARPALIKA LIMITS WITHIN 5 KM OF SHAMALPUR JUNCTION TOWARDS TINTOI ON STATE HIGHWAY	BANASKANTHA ARVALLI	REGULAR	250 320	OBC ST	DC CFS	30 35	30 35	900 1225	32 0	55 0	DRAW OF LOTS DRAW OF LOTS	15 0	4
66	WITHIN 2 KMS OF DIVINE MUTLI FACILTIY HOSPITAL ON KAHTWADA-SINGHARVA ROAD TOWARDS KATHWADA	AHMEDABAD	REGULAR	250	OPEN	DC	40	40	1600	32	55	DRAW OF LOTS	15	5
67	WITHIN 2KM FROM ACHARDA BUS STAND ON SH20	SURENDRANAGAR	REGULAR	155	OPEN	DC	40	40	1600	32	75	DRAW OF LOTS	15	5
68	ON SH 72, WITHIN 2 KMS OF THE JUNCTION OF SH 54 AND SH 72 (MITHA CHOKDI) ON LHS TOWARDS BHABHAR	BANASKANTHA	REGULAR	160	ОВС	DC	40	40	1600	32	75	DRAW OF LOTS	15	4
69 70	WITHIN 3 KMS OF JETDA BUS STOP ON LHS OF SH 54 WHILE GOING FROM DEESA TO THARAD WITHIN 3 KM FROM NEHRU CHOKDI ON RHS OF SH 141	BANASKANTHA	REGULAR	190	ST OPEN	CFS DC	40 35	40 35	1600 1225	0	0 75	DRAW OF LOTS	0	3
70	TOWARDS VILLAGE PALUNDRA WITHIN 3 KMS FROM VAGDA BUS STOP ON LHS OF SH 712	BANASKANTHA	REGULAR	160	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
71	WHILE GOING FROM VAGDA TO VADGAM ANYWHERE IN GIDC WADHWAN PHASE III/IV	SURENDRANAGAR	REGULAR	173	OPEN	DC	40	40	1223	32	55	DRAW OF LOTS	15	5
73	ON ROAD CONNECTING CLUB O7 IN BOPAL WITH SARDAR PATEL RING ROAD WITHIN 3 KM FROM ANANDPURA CHOKDI ON VIJAPUR	AHMEDABAD	REGULAR	555	OBC CC-1	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
74	HIMATNAGAR ROAD TOWARDS HIMATNAGAR ON LHS WITHIN 3KM FROM BHAIRVNATH CHOWK TOWARDS	MEHSANA	REGULAR	165	ST CC-1	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
75 76	SONGADH ON PALITANA SONGADH ROAD VILLAGE KANPUR ON SH-10 IDAR-BHILODA HIGHWAY	BHAVNAGAR SABARKANTHA	REGULAR	180 150	OPEN PH OBC	DC DC	30 35	30 35	900 1225	32 32	55	DRAW OF LOTS DRAW OF LOTS	15 15	5
77	WITHIN 4 KMS OF INTERSECTION OF SH 72 AND NH68 (GAI CIRCLE) ON BHABHAR RADHANPUR ROAD, NH 68 ON LHS WHILE GOING FROM BHABHAR TO RADHANPUR	BANASKANTHA	REGULAR	160	OPEN	сс	45	45	2025	32	12	BIDDING	30	5
78	VILLAGE TINTOI ON STATE HIGHWAY UPTO 4 KMS FROM HOTEL TIRANGA, TOWARDS PALANPUR,	ARVALLI	REGULAR	179	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
79	ON LHS OF NH27 WITHIN 6 KM FROM KAKOSHI CHAR RASTA TOWARDS	BANASKANTHA	REGULAR	410	OPEN	DC	45	45	2025	32	95	DRAW OF LOTS	15	5
80 81	KHADIYASANA ON SIDHPUR KAKOSI ROAD BEETWEEN BOTAD AND RANPUR ON NATIONAL HIGHWAY	BOTAD	REGULAR	180	OBC OPEN	CC DC	40 40	40	1600	32	12 55	BIDDING DRAW OF LOTS	30 15	4
82	WITHIN 3 KMS FROM HOTEL DARSHAN AND GUEST HOUSE ON SH 41 ON LHS WHILE GOING FROM MEHSANA TOWARDS PALANPUR.	BANASKANTHA	REGULAR	240	OPEN	DC	40	40	1600	32	75	DRAW OF LOTS	15	5
83 84	WITHIN DEESA NAGARPALIKA LIMITS. WITHIN 10 KM FROM JYOTI GRAM CIRCLE-BOTAD	BANASKANTHA BOTAD	REGULAR	140 168	ST OBC	CFS DC	30 40	30 40	900	0	0 95	DRAW OF LOTS	0	3
84	TOWARDS TATAM WITHIN 6 KMS OF OM SHAKTI GARDEN RESTAURANT TOWARDS DEHCAM ON LHS OF SH 68	GANDHINAGAR	REGULAR	202	OBC	DC	40 35	40 35	1600 1225	32	95 75	DRAW OF LOTS	15 15	4
86	TOWARDS DEHGAM ON LHS OF SH 68 WITHIN 5 KMS OF OM SHAKTI GARDEN RESTAURANT TOWARDS DEHGAM ON RHS OF SH 68	GANDHINAGAR	REGULAR	202	OPEN CC-1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
87	WITHIN 5 KM FROM NILKANTH VIDHYAPITH TOWARDS MAHUVA ON LHS OF NH 51	BHAVNAGAR	REGULAR	183	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
88	ON NH 27 ON LHS WHILE GOING FROM PALANPUR TO AMIRGADH IN BETWEEN JETHI TO AMIRGADH	BANASKANTHA	REGULAR	580	ОВС	сс	45	45	2025	32	12	BIDDING	30	4
89	WITHIN TENIWADA TO BARKHAWADA ON LHS ON SH 41 WHILE GOING FROM MEHSANA TO PALANPUR	BANASKANTHA	REGULAR	300	OPEN	сс	40	40	1600	32	12	BIDDING	30	5
90	IN VILLAGE KATHWADA ON TEBLI-PARDHOL ROAD WITHIN 5 KM FROM NIRMA CIRCLE CHANASMA TOWARDS	AHMEDABAD	REGULAR	250	OPEN	DC	40	40	1600	32	75	DRAW OF LOTS	15	5
91 92	HARIJ ON HARIJ CHANASMA ROAD ON LHS WITHIN 5 KM ON LHS OF NH-48 FROM VILLAGE NAPDA (JAGIRI) TO SHAMLAJI	PATAN	REGULAR	170 160	OBC ST	DC CFS	40 40	40 40	1600 1600	32 0	75	DRAW OF LOTS	15 0	4
93	ON EITHER SIDE OF TRAGAD ROAD FROM SG HIGHWAY (ZYDUS CORPORATE PARK) TILL IOC ROAD JUNCTION	AHMEDABAD	REGULAR	400	OPEN	DC	25	30	750	32	75	DRAW OF LOTS	15	5
94	BETWEEN OGNAI-LAPKAMAN CIRCLE AND SARVA MANGAL SANSTHAN ON LHS WHILE GOING FROM OGNAJ-LAPKAMAN CIRCLE TOWARDS SARVA MANGAL SANSTHAN BUILDING	AHMEDABAD	REGULAR	385	OPEN	сс	35	35	1225	32	12	BIDDING	30	5
95	4 KM FROM GANESHPURA BUS STOP ON AHMEDABAD MEHSANA HIGHWAY TOWARDS MEHSANA ON LHS	MEHSANA	REGULAR	160	ОВС	DC	40	40	1600	32	75	DRAW OF LOTS	15	4

			Type of RO		Category	Type of Site	Minimum E)imentsion (site in Sqm	in Mt)/ Area of *	Finance to ap	be arraned by plicant	Mode of Selection		
SR NO	Location Name	Revenue District	Rural/ Regular	Estimated Monthly Sales potential (MS+HSD) #	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC CC-1 OBC CC-1 OPEN CC-2 OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of lots/Bidding	Fixed Fee / Minimum Bid amount	Security Deposit
96	IN BETWEEN RADHANPUR AND BHALGAM TOLL PLAZA ON NH27 ON LHS WHILE GOING FROM RADHANPUR TO DEESA.	BANASKANTHA	REGULAR	150	sc	CFS	35	35	1225	o	0	DRAW OF LOTS	0	3
97	ON LHS OF SG HIGHWAY FROM VAISHNO DEVI CIRCLE TILL GOTA CROSS ROAD	AHMEDABAD	REGULAR	250	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
98	AT VILLAGE KHAMBHADA ON SURENDRANAGAR- DHRANGHDHARA NH 51	SURENDRANAGAR	REGULAR	155	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
99	WITHIN 3 KMS FROM GARAMADI BUS STOP ON LHS OF NH 27 WHILE TRAVELLING FROM SANTALPUR TO ADESAR	PATAN	REGULAR	340	OBC	сс	40	40	1600	32	12	BIDDING	30	4
100	WITHIN 2 KM OF MOTA ASRANA CHOKDI ON SH 21 TOWARDS MOTA KHUTAVADA	BHAVNAGAR	REGULAR	170	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
101	WITHIN 2 KMS OF OGNAJ-LUPKAMAN CIRCLE ON ROAD CONNNECTING OGNAJ LUPKAMAN CIRCLE CIRCLE WITH	AHMEDABAD	REGULAR	350	OPEN	сс	30	30	900	32	12	BIDDING	30	5
102	GOTA CROSS ROADS BRTS STATION ON NH 168 (OLD SH7) ON RHS WHILE TRAVELLING FROM ARKHI TO GUNDARI	BANASKANTHA	REGULAR	195	OBC	сс	40	40	1600	32	12	BIDDING	30	4
103	BETWEEN TINTOI AND SHAMLAJI ON LHS OF STATE HIGHWAY TOWARDS SHAMLAJI	ARVALLI	REGULAR	154	OPEN	сс	35	35	1225	32	12	BIDDING	30	5
104	VILLAGE DOLATABAD ON SH-143 (TALOD-MAJARA RD)	SABARKANTHA	REGULAR	130	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
105 106	AT VILLAGE AKWADA ON SH37 WITHIN PALANPUR NAGARPALIKA LIMITS	BHAVNAGAR BANASKANTHA	REGULAR	150 150	ST OBC	CFS DC	35 30	35 30	1225 900	0 32	0	DRAW OF LOTS DRAW OF LOTS	0	3 4
107	ON STATE HIGHWAY BETWEEN RAMPURA CHOKDI AND GADHODA	SABARKANTHA	REGULAR	100	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
108 109	WITHIN HIMMATNAGAR MUNICIPALITY LIMITS WITHIN 4 KMS FROM D K TRIVEDI AND SONS CIRCLE,	SABARKANTHA BANASKANTHA	REGULAR	100	OPEN ST	DC CFS	30 45	30 45	900 2025	32 0	55	DRAW OF LOTS	15 0	5
110	AMBAJI TOWARDS KAMAKSHI TEMPLE, AMBAJI SH 53 WITHIN 4 KMS OF VILLAGE BHORDU BUS STAND ON NH 168 ON LHS WHILE GOING FROM THARAD TO DHANERA	BANASKANTHA	REGULAR	210	OBC	DC	40	40	1600	32	95	DRAW OF LOTS	15	4
111	WITHIN 2KMS FROM NANA CHILODA CIRCLE ON SARDAR PATEL RING ROAD ON LHS WHILE GOING TOWARDS DAHEGAM CIRCLE	GANDHINAGAR	REGULAR	465	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
112	ON LHS OF NH47 SARKHEJ-BAVLA ROAD BETWEEN KM STONE 150 AND 153	AHMEDABAD	REGULAR	200	OPEN CC-1	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
113	WITHIN 4 KMS OF VIBRANT ENGLISH MEDIUM SCHOOL ON NH 168 ON THARAD DHANERA ROAD	BANASKANTHA	REGULAR	210	OBC	DC	40	40	1600	32	95	DRAW OF LOTS	15	4
114	WITHIN NAGARPALIKA LIMIT OF CHANASMA VILLAGE LAXMIPURA ON SH 147 KHEDBRAHMA	PATAN SABARKANTHA	REGULAR	110 122	SC OPEN	CFS DC	40 35	40 35	1600 1225	0 32	0 75	DRAW OF LOTS DRAW OF LOTS	0	3
116	VIJAYNAGAR HIGHWAY BETWEEN RANDHEJA CHOKDI AND PETHAPUR CIRCLE ON SH-217	GANDHINAGAR	REGULAR	163	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
117	BETWEEN BHOJPARA BUS STOP TO GHANGHALI ON BHAVNAGAR-VALLABHIPUR ROAD SH 36	BHAVNAGAR	REGULAR	165	ОВС	DC	40	40	1600	32	75	DRAW OF LOTS	15	4
118	ANYWHERE WITHIN 4 KMS OF VILLAGE RAMPURA BUS STOP, THARAD ON RAMPURA VAMI ROAD.	BANASKANTHA	REGULAR	140	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
119	VILLAGE SHERTHA ON LHS WHILE GOING FROM AHMEDABAD TO MEHSANA ON SH-41	GANDHINAGAR	REGULAR	122	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
120	AT VILLAGE GANESHGADH ON BHAVNAGAR-DHOLERA HWY NH 51 ON NH 27 ON LHS WHILE GOING FROM PALANPUR TO	BHAVNAGAR	REGULAR	165	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
121	AMIRGADH IN BETWEEN KHEMANA TOLL PLAZA TO VILLAGE JETHI	BANASKANTHA	REGULAR	410	OBC	DC	45	45	2025	32	95	DRAW OF LOTS	15	4
122	WITHIN 2KM FROM TALAJA ST BUS STAND IN TALAJA TOWN	BHAVNAGAR	REGULAR	160	OPEN	DC	25	25	625	32	55	DRAW OF LOTS	15	5
123	WITHIN 5 KM FROM MOTAP CROSS ROAD ON MODHERA MEHSANA ROAD TOWARDS MEHSANA ON LHS	MEHSANA	REGULAR	165	ST CC-1	CFS	40	40	1600	o	0	DRAW OF LOTS	0	3
124	ON SH 127 WITHIN 3 KMS FROM JUNCTION OF SH127 AND NH 27 AT SIDHADA ON SH 127 ON LHS WHILE GOING FROM SIDHADA TO SUIGAM.	PATAN	REGULAR	180	OPEN CC-2	DC	45	45	2025	32	75	DRAW OF LOTS	15	5
125 126	WITHIN 5 KM OF LIMBDI HIGHWAY CIRCLE ON NH47 AT ADHELAI ON BHAVNAGAR-DHOLERA HWY NH 51	SURENDRANAGAR BHAVNAGAR	REGULAR REGULAR	240 170	OBC CC-1 OPEN	DC DC	40 40	40 40	1600 1600	32 32	95 95	DRAW OF LOTS DRAW OF LOTS	15 15	4
127	WITHIN 4 KMS FROM HOTEL SWAGAT INN KANODAR ON LHS OF SH 41 TOWARDS PALANPUR	BANASKANTHA	REGULAR	190	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
128	IN BETWEEN MUDETHA TOLL PLAZA AND BHILDI ON NH 27 ON LHS WHILE GOING FROM MUDETHA TO DEESA	BANASKANTHA	REGULAR	100	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
129	WITHIN SIHOR NAGARPALIKA TOWN LIMIT ON SH 72 ON LHS WHILE GOING FROM BANAS DAIRY	BHAVNAGAR	REGULAR	172	OPEN	DC	35	35	1225	32	55	DRAW OF LOTS	15	5
130 131	SANADAR TOWARDS KHIMANA WITHIN NAGARPALIKA LIMIT OF MAHUVA	BANASKANTHA BHAVNAGAR	REGULAR	240 150	OPEN OBC	CC DC	40 25	40 25	1600 625	32 32	12 55	BIDDING DRAW OF LOTS	30 15	5
132	WITHIN 4KM FROM GADHADA BUS STAND TOWARDS BOTAD ON SH 72 ON LHS WHILE GOING FROM BANAS DAIRY	BOTAD	REGULAR	173	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
133	SANADAR TOWARDS DIYODAR WITHIN 4 KMS OF DEESA PALANPUR NEW OVERBRIDGE END TOWARDS PALANPUR SIDE ON NH 27 ON LHS WHILE	BANASKANTHA	REGULAR	240	OPEN	CC DC	40 45	40	1600 2025	32	95	BIDDING DRAW OF LOTS	30 15	5
135	GOING FROM DEESA TO PALANPUR AT FULSAR IN BHAVNAGAR WITHIN 3KM FROM DABHALA CHOWKDI TOWARDS	BHAVNAGAR	REGULAR	185	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
136 137	GOZARIA ON LHS ON DABHALA CHOWNDI TOWARDS GOZARIA ON LHS ON DABHALA GOZARIA ROAD AT KALA TALAV ON BHAVNAGAR SANES ROAD	MEHSANA BHAVNAGAR	REGULAR REGULAR	135 195	ST OPEN	CFS DC	40 35	40 35	1600 1225	0	0	DRAW OF LOTS DRAW OF LOTS	0	3
137	ON VASTRAL ROAD BETWEEN NAROL-NARODA ROAD AND SARDAR PATEL RING ROAD	AHMEDABAD	REGULAR	200	OPEN CC-1	DC	20	20	400	32	75	DRAW OF LOTS	15	5
139	BETWEEN SIDSAR AND TALAJA JAKATNAKA CIRCLE IN BHAVNAGAR CITY BETWEEN KM STONE 2 AND 5 ON CHOTILA JASDAN STATE	BHAVNAGAR	REGULAR	240	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
140	HIGHWAY ON EITHER SIDE OF SH-71 BETWEEN DHEDHU CHOWKDI	GANDHINAGAR	REGULAR	170	ST OPEN	CFS DC	40	40	1600	0	0 75	DRAW OF LOTS	0	3
141	AND NADRI. BETWEEN KM STONE 104 AND 106 ON SH-59 DHANSURA-	GANDHINAGAR	REGULAR	150	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15 15	5
142	MODASA RD FROM ADALAJ OVER BRIDGE TO VAISHNO DEVI CIRCLE ON	GANDHINAGAR	REGULAR	490	OPEN	DC	45	45	2025	32	95	DRAW OF LOTS	15	4
143	LHS ON SG HIGHWAY WITHIN 4 KM FROM ANAND PURA CIRCLE VIJAPUR ON	PATAN	REGULAR	150	OPEN	DC	40	40	1600	32	75	DRAW OF LOTS	15	5
145	VIJAPUR PILVAI ROAD TOWARDS PILVAI ON RHS ON BHAKT VALLABH DHOLA MARG FROM INTERSECTION OF NAROL ROAD TILL KANKARIA LAKE	AHMEDABAD	REGULAR	150	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
	NAKUL KUAD TILL KANKARIA LAKE					-					I	,	· · ·	

			Type of RO		Category	Type of Site *	Minimum D	Dimentsion (site in Sqm	in Mt)/ Area of *	Finance to ap	b be arraned by oplicant	Mode of Selection		
SR NO	Location Name	Revenue District	Rural/ Regular	Estimated Monthly Sales potential (MS+HSD) #	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC CC-1 OBC CC-1 OPEN CC-2 OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of lots/Bidding	Fixed Fee / Minimum Bid amount	Security Deposit
146	BETWEEN KM STONE NO. 90 AND 110 ON LHS OF RAJKOT TO AHMEDABAD HIGHWAY NH47	SURENDRANAGAR	REGULAR	165	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
147	FROM ADALAJ OVERBRIDGE TO INDRODA PARK ON LHS OF SG HIGHWAY	GANDHINAGAR	REGULAR	470	ОВС	DC	45	45	2025	32	95	DRAW OF LOTS	15	4
148	WITHIN 6 KM FROM PIPRALA BUS STAND TOWARDS	PATAN	REGULAR	220	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
149	SANTALPUR ON LHS ON NH 27 ON SH133 (MANDAL-KADI ROAD) BETWEEN KM STONE NO	AHMEDABAD	REGULAR	160	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
150	25 AND VITHALPUR CHOWKDI EITHER SIDE UPTO 3 KM FROM GANDHINAGAR INTERNATIONAL SCHOOL	ARVALLI	REGULAR	220	OBC PH	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
	ON LHS OF SH 59 TOWARDS BAYAD WITHIN 3 KMS OF BANAS OIL MILL SANKUL ON LHS ON NH													
151	27 WHILE GOING FROM PALANPUR TOWARDS DEESA	BANASKANTHA	REGULAR	155	OPEN	сс	45	45	2025	32	12	BIDDING	30	5
152	WITHIN NAGARPALIKA LIMITS OF VISHNAGAR FROM VAISHNO DEVI CIRCLE TO ADALAJ OVER BRIDGE ON	GANDHINAGAR	REGULAR	150 490	OPEN OBC	DC DC	25 45	25 45	625 2025	32	55 95	DRAW OF LOTS DRAW OF LOTS	15	5
155	LHS ON SG HIGHWAY WITHIN 5 KM OF VADGAM BUS STAND ON VADGAM	BANASKANTHA	REGULAR	100	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
154	KHERALU SH 132 ROAD WITHIN 2 KM FROM SADBHAV HOSPITAL PATAN TOWARDS	MEHSANA	REGULAR	150	OPEN	DC	40	40	1600	32	75	DRAW OF LOTS	15	5
155	DEESA ON LHS ON PATAN DEESA ROAD	MERSANA	REGULAR	150	OPEN	DC	40	40	1600	32	/5	DRAW OF LOTS	15	
156	WITHIN 6 KM FROM UNAVA APMC GATE ON PALANPUR MEHSANA HIGHWAY TOWARDS MEHSANA ON LHS	MEHSANA	REGULAR	170	OPEN	DC	40	40	1600	32	75	DRAW OF LOTS	15	5
157	WITHIN 2 KMS OF GEMS GENESIS INTERNATIONAL SCHOOL IN KHODIYAR, DISTRICT GANDHINAGAR	GANDHINAGAR	REGULAR	335	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
158	ANYWHERE IN MOTERA WITH IN 6 KM FROM APMC UNJHA CIRCLE IN UNJA	AHMEDABAD	REGULAR	220	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
159	TOWARDS PATAN ON UNJHA PATAN ROAD WITH IN 6 KM FROM APMC UNJHA CIRCLE IN UNJHA	MEHSANA	REGULAR	175	OPEN	DC	40	40	1600	32	75	DRAW OF LOTS	15	5
160	TOWARDS MEHSANA ON RHS ON MEHSANA PALANPUR ROAD	MEHSANA	REGULAR	160	OPEN	DC	40	40	1600	32	75	DRAW OF LOTS	15	5
161	WITHIN 4 KM FROM KADA DARWAJA VISNAGAR TOWARDS VIJAPUR ON LHS ON VISNAGAR VIJAPUR ROAD	MEHSANA	REGULAR	165	OPEN	DC	40	40	1600	32	75	DRAW OF LOTS	15	5
162	WITHIN 5 KM OF CHILODA CIRCLE ON LHS OF NH 48 TOWARDS HIMMATNAGAR WITHIN 4KM FROM RTO HIMMATNAGAR ON LHS OF	GANDHINAGAR	REGULAR	340	OBC	сс	35	35	1225	32	12	BIDDING	30	4
163	HIMMATNAGAR BY PASS ROAD WHILE GOING TOWARDS IDAR	SABARKANTHA	REGULAR	235	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
164 165	WITHIN 3 KMS FROM NARI CHOWKDI ON NH51 AT VILLAGE BILESHVARPURA ON SH-41.	BHAVNAGAR GANDHINAGAR	REGULAR	200 123	OPEN CC-1 OBC	DC DC	40 30	40 30	1600 900	32 32	95 75	DRAW OF LOTS DRAW OF LOTS	15 15	5
166	UPTO 9KM FROM KHERPUR TOWARDS KADI ON STATE HIGHWAY	MEHSANA	REGULAR	165	OPEN	DC	40	40	1600	32	75	DRAW OF LOTS	15	5
167	WITHIN 3 KMS OF SAGROSANA BUS STOP ON SASAM PALANPUR ROAD	BANASKANTHA	REGULAR	110	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
168	WITHIN 3 KMS OF BHACHALVA VILLAGE BUS STAND ON SH 7 ON RIGHT HAND SIDE WHILE GOING FROM BHACHALVA TO VITHODAR.	BANASKANTHA	REGULAR	280	OPEN	сс	40	40	1600	32	12	BIDDING	30	5
169	WITHIN 1 KM FROM ADALAJ CIRCLE ON ADALAJ-POR- KUDASAN RD	GANDHINAGAR	REGULAR	220	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
170	BETWEEN KM STONE NO. 78 AND 83 ON LHS OF DHRANGADHRA TO VIRAMGAM HIGHWAY SH7	SURENDRANAGAR	REGULAR	178	OPEN	DC	40	40	1600	32	75	DRAW OF LOTS	15	5
171	IN BETWEEN SHIHORI TO KHIMANA ON NH 27 ON LHS WHILE GOING FROM SHIHORI TO DEESA	BANASKANTHA	REGULAR	150	OPEN	сс	35	35	1225	32	12	BIDDING	30	5
172	WITHIN 3KM FROM LAKHTAR BUS STAND TOWARDS WADHWAN ON LHS WHILE GOING FROM LAKHTAR TO WADHWAN SH17	SURENDRANAGAR	REGULAR	165	ST CC-1	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
173	WITHIN 2KM OF SARASWATI MULTISPECIALITY HOSPITAL ON SP RING ROAD	AHMEDABAD	REGULAR	555	OBC CC-1	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
174	WITHIN 3KM OF BHADBHID TOLL PLAZA ON BHAVNAGAR- DHOLERA NH51	BHAVNAGAR	REGULAR	175	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
175	AT CHITRA-SIDSAR ROAD IN BHAVNAGAR CITY WITHIN 6 KMS FROM D K TRIVEDI AND SONS CIRCLE,	BHAVNAGAR	REGULAR	180	OPEN PH	DC	30	30	900	32	75	DRAW OF LOTS	15	5
176	AMBAJI ON SH 56 , ON LHS WHILE GOING FROM AMBAJI TO DANTA WITHIN 6 KM FROM BECHRAJI CIRCLE ON MEHSANA BY	BANASKANTHA	REGULAR	220	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
177	PASS TOWARDS NAGALPUR WITHIN 4 KM FROM ISKCON CIRCLE ON MEHSANA BY PASS	MEHSANA	REGULAR	170	OBC	DC	40	40	1600	32	75	DRAW OF LOTS	15	4
178	TOWARDS AHMEDABAD WITHIN 4 KM FROM BECHRAJI CIRCLE ON MEHSANA BY	MEHSANA	REGULAR	160	OPEN	сс	40	40	1600	32	12	BIDDING	30	5
179	PASS TOWARDS PALANPUR ON LHS	MEHSANA	REGULAR	150	OBC	DC	40	40	1600	32	95	DRAW OF LOTS	15	4
180	WITHIN 7 KMS OF HOTEL PALAV ON NH48 ON LHS WHILE TRAVELING TOWARDS AHMEDABAD	GANDHINAGAR	REGULAR	200	SC	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
181	WITHIN CITY LIMITS OF BOTAD WITHIN 3 KMS FROM VADNAGAR DARWAJA IN VISNAGAR	BOTAD MEHSANA	REGULAR	175 130	OPEN OPEN	DC DC	30 25	30 25	900 625	32 32	55	DRAW OF LOTS DRAW OF LOTS	15 15	5
183	TOWN TOWARDS SHUNSHI VILLAGE WITHIN 3 KMS FROM MANAV ASHRAM CIRCLE TOWARDS VISNAGAR ON LHS ON MEHSANA VISNAGAR ROAD	MEHSANA	REGULAR	150	OPEN	сс	40	40	1600	32	12	BIDDING	30	5
184	WITHIN 5 KM FROM SARDAR PATEL SPORTS COMPLEX IN PATAN TOWARDS RADHANPUR ON LHS ON PATAN	MEHSANA	REGULAR	150	ОВС	DC	40	40	1600	32	95	DRAW OF LOTS	15	4
185	RADHANPUR ROAD WITHIN 5KM FROM LAKHTAR BUS STAND TOWARDS	SURENDRANAGAR	REGULAR	175	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
186	SHIYANI VILLAGE SH38 WITHIN 3 KMS FROM BUDHEL CHOKDI ON NH 51	BHAVNAGAR	REGULAR	230	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
187	ON LHS OF NIKOL NARODA ROAD FROM BHAWANI CHOWK TO KHODIYAAR CHOWK WITHIN 10KM FROM BALAPUR CIRCLE TOWARDS THOL ON	AHMEDABAD	REGULAR	190	OPEN CC-1	DC	20	20	400	32	75	DRAW OF LOTS	15	5
188	SH 135 WITHIN 5KM FROM THANGADH MUNICIPAL HIGH SCHOOL	MEHSANA	REGULAR	200	OBC	DC	40	40	1600	32	75	DRAW OF LOTS	15	4
189 190	TOWARDS CHOTILA, TALUKA THANGADH ON EITHER SIDE OF SP RING ROAD FROM TAPOVAN CIRCLE TO NANA CHILODA CIRCLE	GANDHINAGAR	REGULAR	175 150	ST	CFS DC	40 40	40 40	1600 1600	0 32	0 75	DRAW OF LOTS	0 15	3
191	ON SH 127 WITHIN 3 KMS FROM JUNCTION OF SH127 AND NH 27 AT SIDHADA ON SH 127 ON RHS WHILE GOING FROM SIDHADA TO SUIGAM.	PATAN	REGULAR	140	ОВС	DC	45	45	2025	32	75	DRAW OF LOTS	15	4
192	BETWEEN SURENDRANAGAR AND WADHWAN BETWEEN KM STONE 99 AND 104 ON DASADA BECHRAJI	SURENDRANAGAR	REGULAR	165	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
193	BETWEEN KM STONE 99 AND 104 ON DASADA BECHRAJI HIGHWAY WITHIN 5KM FROM THANGADH MUNICIPAL HIGH SCHOOL	SURENDRANAGAR	REGULAR	192	OPEN	DC	40	40	1600	32	75	DRAW OF LOTS	15	5
194	TOWARDS WANKANER, TALUKA THANGADH	SURENDRANAGAR	REGULAR	175	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3

			Type of RO		Category	Type of Site	Minimum C	Dimentsion (site in Sqm	n Mt)/ Area of . *		be arraned by plicant	Mode of Selection		
SR NO	Location Name	Revenue District	Rural/ Regular	Estimated Monthly Sales potential (MS+HSD) #	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC CC-1 OBC CC-1 OPEN CC-2 OPEN CC-2 OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of lots/Bidding	Fixed Fee / Minimum Bid amount	Security Deposit
195	WITHIN 5 KM FROM KHALI CHAR RASTA TOWARDS PATAN ON KHERALU PATAN ROAD	PATAN	REGULAR	200	OBC	сс	40	40	1600	32	12	BIDDING	30	4
196	WITHIN 2 KM FROM HOTEL GHUNGHAT ON SH 71 ON LHS WHILE TRAVELLING TOWARDS MANSA	GANDHINAGAR	REGULAR	177	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
197	WITHIN 4 KMS FROM NANDASAN CHOWKDI ON MEHSANA AHMEDABAD HIGHWAY TOWARDS AHMEDABAD ON LHS	MEHSANA	REGULAR	190	OPEN	сс	40	40	1600	32	12	BIDDING	30	5
198	WITHIN PATDI NAGARPALIKA LIMITS BETWEEN LAXMIPURA AND VALMIKI ASHRAM SHALA ON	SURENDRANAGAR	REGULAR	215	SC OBC	CFS	30	30	900	32	0	DRAW OF LOTS BIDDING	0 30	3
200	STATE HIGHWAY ON RHS OF NH47 AHMEDABAD-RAJKOT HIGHWAY ROAD	AHMEDABAD	REGULAR	150	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
	B/W KM STONE 143 AND 148 ON NH 27 FROM AMIRGADH TO RAJASTHAN BORDER													
201	CHECK POST ON LEFT HAND SIDE GOING TOWARDS RAJASTHAN BETWEEN KM STONE NO. 3 AND 8 ON LHS OF RAJKOT TO	BANASKANTHA	REGULAR	580	OPEN	сс	45	45	2025	32	12	BIDDING	30	5
202	AHMEDABAD HIGHWAY NH47 WITHIN 5KM FROM LAKHTAR BUS STAND TOWARDS	SURENDRANAGAR	REGULAR	318	OBC	DC	40	40	1600	32	95	DRAW OF LOTS	15	4
203	VIRAMGAM ON LHS WHILE GOING FROM LAKHTAR TO VIRAMGAM ON SH17	SURENDRANAGAR	REGULAR	180	sc	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
204	WITHIN 5KM OF DOLIYA CIRCLE TOWARDS SAYLA ON LHS OF RAJKOT TO AHMEDABAD HIGHWAY NH47 WITHIN 5 KM OF SAYLA JUNCTION ON LHS OF RAJKOT TO	SURENDRANAGAR	REGULAR	250	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
205	AHMEDABAD NH47 BETWEEN KM STONE NO. 34 AND 44 ON LHS OF	SURENDRANAGAR	REGULAR	265	OPEN	DC	40	40	1600	32	95	DRAW OF LOTS	15	5
206	BETWEEN KM STONE NO. 34 AND 44 ON LHS OF AHMEDABAD TO RAJKOT HIGHWAY NH47 BETWEEN TRINETSHWAR MANDIR AND THANGADH	SURENDRANAGAR	REGULAR	235	OBC	сс	40	40	1600	32	12	BIDDING	30	4
207	MUNICIPAL HIGH SCHOOL ON SH119 WITHIN 4 KM OF KALRI TEEN RASTA TOWARDS BALOL ON	SURENDRANAGAR	REGULAR	175	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
208	LHS OF BECHRAJI BALOL ROAD IN VILLAGE LILAPUR BETWEEN SG HIGHWAY AND GOTA	MEHSANA	REGULAR	175	OPEN	сс	40	40	1600	32	12	BIDDING	30	5
209	VADSAR ROAD WITHIN 5KM FROM MAKSON CIRCLE TOWARDS MULI ON	AHMEDABAD	REGULAR	240	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
210	LHS SURENDRANAGAR-RAJKOT HIGHWAY SH 17 WITHIN 4 KM FROM D MART CIRCLE MEHSANA TOWARDS	SURENDRANAGAR	REGULAR	170 210	OBC	CC DC	40	40	1600	32	95	BIDDING DRAW OF LOTS	30 15	4
	CHANASMA ON LHS OF MEHSANA PATAN ROAD WITHIN 6 KM FROM JOTANA ONGC CIRCLE TOWARDS KADI													
212	ON JOTANA KADI ROAD WITHIN 3KM OF NAVAGAM PRIMARY SCHOOL TOWARDS	SURENDRANAGAR	REGULAR	150	SC OBC	CFS CC	40	40	1600	0	0	DRAW OF LOTS BIDDING	0 30	3
	THANGADH ON NAVAGAM ROAD, TALUKA THANGADH ON EITHER SIDE OF MAHUVA BYPASS ROAD NH51, TALUKA													
214	MAHUVA WITHIN 5 KM FROM ISKCON CIRCLE ON MEHSANA BY PASS	BHAVNAGAR	REGULAR	190 250	OPEN CC-1 OPEN	DC CC	35 40	35 40	1225	32	95	DRAW OF LOTS BIDDING	15 30	5
215	TOWARDS MODHERA ON LHS AT TANSA ON NH 51	BHAVNAGAR	REGULAR	173	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
217	ON NH 27 ON LHS WHILE GOING FROM AMIRGADH TO PALANPUR BETWEEN AMIRGADH AND HOTEL CORONA	BANASKANTHA	REGULAR	560	OBC	сс	45	45	2025	32	12	BIDDING	30	4
218	WITHIN 9 KM FROM HEALTH WELNESS CENTER MITHA ON MEHSANA BECHRAJI HIGHWAY TOWARDS BECHRAJI ON RHS	MEHSANA	REGULAR	180	OPEN	DC	40	40	1600	32	75	DRAW OF LOTS	15	5
219	WITH 4 KM FROM BRAHMANWADA BUS STOP ON MEHSANA PALANPUR HIGHWAY TOWARDS PALANPUR ON LHS	MEHSANA	REGULAR	185	OPEN	DC	40	40	1600	32	75	DRAW OF LOTS	15	5
220	WITHIN RANPUR NAGARPALIKA LIMIT UPTO 4KMS FROM ODHAV CIRCLE TOWARDS DAHEGAM	BOTAD	REGULAR	550	ST OBC	CFS DC	25 40	25	625	32	0	DRAW OF LOTS	0	3
221	CIRCLE ON LHS OF SARDAR PATEL RING ROAD	AHMEDABAD	REGULAR	550	OBC	DC	40	40	1600	32	75	DRAW OF LOTS	15	4
222	TOWARDS SANAND WITHIN 5 KM OF SANKAD VILLAGE BUS STAND ON NH 168	MEHSANA	REGULAR	165	OPEN	DC	40	40	1600	32	75	DRAW OF LOTS	15	5
223	ON THARAD DHANERA ROAD AT ADHEWADA ON BHAVNAGAR-BUDHEL HWY NH 51	BANASKANTHA BHAVNAGAR	REGULAR	180 230	OPEN CC-2 OBC CC-1	DC DC	40 40	40	1600 1600	32 32	95 95	DRAW OF LOTS	15 15	5
225	WITHIN 3 KM FROM GARIYADHAR BUS STAND TOWARDS NAVAGAM ON SH21	BHAVNAGAR	REGULAR	175	SC CC-1	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
226	UP TO 4 KM FROM SAFFRONY INSTITUTE TECHNOLOGY TOWARDS MEHSANA ON MEHSANA AHMEDABAD HIGHWAY ON RHS	MEHSANA	REGULAR	160	OPEN	DC	40	40	1600	32	75	DRAW OF LOTS	15	5
227	WITHIN 5 KM FROM SHANKUS WATER PARK MAIN GATE ON AHMEDABAD MEHSANA HIGHWAY TOWARDS MEHSANA ON LHS	MEHSANA	REGULAR	200	OPEN	сс	40	40	1600	32	12	BIDDING	30	5
228	ON EITHER SIDE OF ROAD CONNECTING KHODIYAAR CHOWK WITH NIKOL POST OFFICE	AHMEDABAD	REGULAR	550	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
229	ON EITHER SIDE WITHIN 3 KM OF RAMOL TOLL PLAZA ON 200 FT S P RING ROAD	AHMEDABAD	REGULAR	230	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
230	WITHIN 4 KM FROM D MART CIRCLE MEHSANA TOWARDS AHMEDABAD ON MEHSANA BY PASS ROAD WITHIN 5 KMS OF INTERSECTION OF SH 132 AND NH 27 ON	MEHSANA	REGULAR	240	OPEN	сс	40	40	1600	32	12	BIDDING	30	5
231	SH 132 ON LHS WHILE GOING FROM CHANDISAR TO DANTIWADA ON EITHER SIDE OF ROAD CONNECTING HARIDARSHAN	BANASKANTHA	REGULAR	130	OPEN	DC	40	40	1600	32	75	DRAW OF LOTS	15	5
232	CROSS ROAD WITH GANGOTRI CIRCLE UPTO 3 KMS FROM THE JUNCTION OF SH 7 AND NH 168A	AHMEDABAD	REGULAR	385	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
233	ON SH 7 ON RHS TOWARDS PANTHAWADA UPTO 8 KMS FROM COLLEGE OF AGRICULTURE SADU, THARAD ON SH 128 (THARAD DHEEMA ROAD) ON LHS	BANASKANTHA	REGULAR	240	OPEN SC	CC CFS	40	40	1600	32	12	BIDDING DRAW OF LOTS	30 0	5
	TOWARDS DHEEMA. UPTO 5 KMS FROM ROZU BUS STOP ON NH27 ON LHS						-						-	
235 236	WHILE TRAVELLING TOWARDS SANTALPUR ANYWHERE IN CTM, AHMEDABAD CITY	PATAN	REGULAR REGULAR	350 370	OPEN OBC	CC DC	40 25	40 25	1600 625	32 32	12 75	BIDDING DRAW OF LOTS	30 15	5
237	UPTO 4 KM FROM PANAM ENGINEERS LTD TOWARDS HIMMATNAGAR ON LHS ON NH-48	SABARKANTHA	REGULAR	190	OPEN CC-1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
238	ON RHS OF NH-48 AHMEDABAD-VADODARA HIGHWAY B/W KM STONE 19 AND 22	AHMEDABAD	REGULAR	170	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
239	WITHIN 5 KMS FROM KAMOD CIRCLE ON RHS OF SH 142 WHILE GOING TOWARDS AHMEDBAD CITY	AHMEDABAD	REGULAR	345	OBC	DC	40	40	1600	32	75	DRAW OF LOTS	15	4
240	ON LHS OF SARDAR PATEL RING ROAD FROM TAPOVAN CIRCLE TO VAISHNO DEVI CIRCLE	AHMEDABAD	REGULAR	200	OPEN	DC	40	40	1600	32	75	DRAW OF LOTS	15	5
241	ANYWHERE IN SHELA	AHMEDABAD	REGULAR	250	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5

			Type of RO		Category	Type of Site	Minimum E	Dimentsion (site in Sqm	in Mt)/ Area of *		be arraned by plicant	Mode of Selection		
SR NO	Location Name	Revenue District	Rural/ Regular	Estimated Monthly Sales potential (MS+HSD) #	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC CC-1 OBC CC-1 OBC PH OPEN CC-2 OPEN CC-2 OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of lots/Bidding	Fixed Fee / Minimum Bid amount	Security Deposit
242	WITHIN 5 KMS FROM KAMOD CIRCLE ON LHS OF SH 142 WHILE GOING TOWARDS AHMEDBAD CITY	AHMEDABAD	REGULAR	345	OBC	DC	40	40	1600	32	75	DRAW OF LOTS	15	4
243	WITHIN 2 KM FROM JESAJI CIRCLE ON SH 21 TOWARDS SAVERAKUNDLA	BHAVNAGAR	REGULAR	170	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
244	ON LHS OF SH-17 TOWARDS SANAND BETWEEN KM STONE 13 AND 16	AHMEDABAD	REGULAR	160	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
245	WITHIN 4 KMS FROM MUDETHA TOLL PLAZA ON NH 27 ON LHS TOWARDS DEESA	BANASKANTHA	REGULAR	190	OPEN	сс	40	40	1600	32	12	BIDDING	30	5
246	ON EITHER SIDE OF ROAD CONNECTING DOLPHIN CIRCLE IN NARODA WITH DASTAN CIRCLE ON SARDAR PATEL RING ROAD	AHMEDABAD	REGULAR	330	ОВС	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
247	WITHIN 5KM FROM BABARKOT CHOWKADI TOWARDS BOTAD ON SH21	BOTAD	REGULAR	170	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
248	ON NH168A ON LHS WHILE TRAVELLING FROM NENAVA 66KV GETCO SUB STATION TOWARDS GUJARAT RAJASTHAN NENAVA BORDER	BANASKANTHA	REGULAR	260	OPEN	сс	40	40	1600	32	12	BIDDING	30	5
249	ANYWHERE IN BOPAL, AHMEDABAD CITY WITHIN 3 KMS FROM IDAR ST BUS STAND TOWARDS	AHMEDABAD	REGULAR	250	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
250	VALASNA ON STATE HIGHWAY WITHIN 4 KMS OF VILLAGE MUMANVAS UNDER TALUKA	BANASKANTHA	REGULAR	215	OBC PH SC PH	DC CFS	35	35 45	2025	32	75	DRAW OF LOTS	15 0	4
252	VADGAM ON DANTA PALANPUR ROAD ON SH 56 ANYWHERE ON ODHAV SINGARWA ROAD STARTING FROM	AHMEDABAD	REGULAR	200	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
253	AKSHAR MATRIX ON SARDAR PATEL RING ROAD ON EITHER SIDE FROM JUNCTION OF NUTAN MILL ROAD AND ANIL STARCH MILL ROAD TILL LUBI CHAR RASTA	AHMEDABAD	REGULAR	175	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
	WITHIN 2 KM FROM THAKKARBAPPA FLYOVER ON NAROL													
254	TO NARODA ROAD ON EITHER SIDE OF BHARTI ASHRAM ROAD FROM BAKROL CIRCLE ON SARDAR PATEL RING ROAD TO SARKHEJ	AHMEDABAD	REGULAR	310	OBC OPEN	DC DC	25 30	25 30	625 900	32 32	75	DRAW OF LOTS	15	4
256	RAILWAY STATION WITHIN 5KM FROM BABARKOT CHOWKADI TOWARDS	BOTAD	REGULAR	170	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
257	VINCHHIYA ON EITHER SIDE OF SCIENCE CITY ROAD FROM SHUKAN MALL CROSS ROAD TILL SARDAR PATEL RING ROAD	AHMEDABAD	REGULAR	250	OPEN	сс	25	25	625	32	12	BIDDING	30	5
258	ON LHS OF AHMEDABAD PATAN ROAD FROM VISHAT	AHMEDABAD	REGULAR	300	ОВС	DC	30	30	900	32	75	DRAW OF LOTS	15	4
259	CIRCLE TOWARDS DCIS BRTS BUS STAND ON LHS OF SH-7 (VIRAMGAM-BECHARAJI HIGHWAY)	AHMEDABAD	REGULAR	230	OPEN	DC	35	35	12225	32	75	DRAW OF LOTS	15	5
260	BETWEEN KM STONE NUMBER 12 AND 16 ON LHS OF SH-17 TOWARDS SARKHEJ BETWEEN KM STONE 17 AND 20	AHMEDABAD	REGULAR	220	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
261	ANYWHERE IN MAKARBA/VEJALPUR ON LHS OF CONNECTING ROAD FROM SARDAR PATEL RING	AHMEDABAD	REGULAR	240	OBC	DC	25	30	750	32	75	DRAW OF LOTS	15	4
262 263	ROAD TO YMCA SIGNAL ON SG HIGHWAY BETWEEN HELMET CIRCLE TO RTO CIRCLE ON 132 FEET RING ROAD ON LHS	AHMEDABAD	REGULAR	450	OPEN OPEN CC-1	DC	25 25	25 25	625	32 32	75	DRAW OF LOTS	15 15	5
264	ANYWHERE ON NAVA NARODA ROAD CONNECTING DOLPHIN CIRCLE TO GOPAL CHOWK	AHMEDABAD	REGULAR	300	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
265	WITHIN NAGAR PALIKA LIMITS OF PALITANA	BHAVNAGAR	REGULAR	170	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
266	ON PIPLAJ BYPASS ROAD STARTING AND ENDING ON AHMEDABAD -DHOLKA HIGHWAY (PIPAL)-PIRANA ROAD) ON SH-136 WITHIN 2 KM FROM SMT. S.H.GARDI HIGH	AHMEDABAD	REGULAR	180	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
267	SCHOOL (SHAHPUR) TOWARDS VIRAMGAM BETWEEN RTO CIRCLE TO HELMET CIRCLE ON 132 FEET	AHMEDABAD	REGULAR	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
268 269	RING ROAD ON LHS ON SH-238 BAYAD-UBHARAN ROAD	AHMEDABAD	REGULAR	285 170	OBC ST	DC CFS	25 35	25 35	625 1225	32	75	DRAW OF LOTS DRAW OF LOTS	15 0	4
270	WITHIN 3 KMS OF NAROL CIRCLE	AHMEDABAD	REGULAR	300	OPEN	DC	25	30	750	32	75	DRAW OF LOTS	15	5
271	ON LHS OF SANAND BYE PASS ROAD TOWARDS VIRAMGAM BETWEEN GOTA CROSS ROADS TO VAISHNO DEVI CIRCLE	AHMEDABAD	REGULAR	160	OPEN	DC	35	35	1225	32	55	DRAW OF LOTS	15	5
272 273	ON LHS OF S.G.HIGHWAY ANYWHERE IN VADAJ, AHMEDABAD CITY	AHMEDABAD	REGULAR	160 220	OPEN OBC CC-1	DC DC	25 25	30 25	750 625	32 32	75	DRAW OF LOTS DRAW OF LOTS	15 15	5
274 275	ON MODASA BYPASS ROAD AT CHITRA ON BHAVNAGAR RAJKOT HIGHWAY	ARVALLI BHAVNAGAR	REGULAR REGULAR	340 180	ST CC-1 OPEN PH	CFS DC	35 40	35 40	1225 1600	0 32	0 75	DRAW OF LOTS DRAW OF LOTS	0 15	3 5
275	WITHIN 3 KM FROM NEHRU CHOKDI ON LHS OF SH 141 TOWARDS VILLAGE PALUNDRA	GANDHINAGAR	REGULAR	285	OBC	сс	35	35	1225	32	12	BIDDING	30	4
277	ON EITHER SIDE OF LINK ROAD (SINDHU BHAWAN ROAD) CONNECTING PAKWAN CIRCLE ON S.G.HIGHWAY TO SARDAR PATEL RING ROAD	AHMEDABAD	REGULAR	200	OPEN	DC	20	25	500	32	75	DRAW OF LOTS	15	5
278	IN VILLAGE HALISA, TALUKA DAHEGAM ON SH192 ON LHS OF GODREJ GARDEN CITY ROAD TOWARDS	GANDHINAGAR	REGULAR	200	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
279 280	VANDEMATRAM SABJI MARKET (NEW SG ROAD) ANYWHERE IN RANIP, AHMEDABAD CITY	AHMEDABAD	REGULAR	200 280	OPEN OBC	DC DC	25 25	25 25	625 625	32 32	75	DRAW OF LOTS DRAW OF LOTS	15 15	5
281	ANYHWERE ON EITHER SIDE OF JAGATPUR ROAD FROM SG HIGHWAY TO CHENPUR RAILWAY CROSSING	AHMEDABAD	REGULAR	220	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
282 283	ANYWHERE IN NEW RANIP WITHIN CHOTILA NAGAR PALIKA LIMITS	AHMEDABAD SURENDRANAGAR	REGULAR	390 170	OPEN ST	DC CFS	25 40	25 40	625 1600	32 0	75 0	DRAW OF LOTS DRAW OF LOTS	15 0	5
284	ON LHS OF SG HIGHWAY FROM JUNCTION OF DRIVE IN ROAD TO SANATHAL CHOWKDI	AHMEDABAD	REGULAR	260	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
285	ANYWHERE IN BAPUNAGAR, AHMEDABAD CITY ON LHS OF 200 FT SP RING ROAD FROM BOPAL CIRCLE TO	AHMEDABAD	REGULAR	200	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
286 287	SCIENCE CITY CIRCLE WITHIN DHRANGDHARA NAGARPALIKA LIMITS	AHMEDABAD	REGULAR	180 125	OPEN CC-1 ST	DC CFS	35 40	35 40	1225 1600	32 0	75	DRAW OF LOTS DRAW OF LOTS	15 0	5
288	BETWEEN H. V. VALANI VIDYA MANDIR BHILDI TO AKHOL CHOWK ON NH 27 ON LHS WHILE GOING FROM BHILDI TO DEESA	BANASKANTHA	REGULAR	170	OBC	DC	45	45	2025	32	95	DRAW OF LOTS	15	4
289	ANYWHERE IN THALTEJ, AHMEDABAD CITY UPTO 4 KM FROM GUJARAT RAJASTHAN BOARDER	AHMEDABAD	REGULAR	210	OPEN	DC	25	25	625	32	75	DRAW OF LOTS	15	5
290	TOWARDS SHAMLAJI ON LHS ON NH 48 ON EITHER SIDE OF IIM ROAD FROM NEHRU PARK CIRCLE	ARVALLI	REGULAR	525	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
291	TO AMBAVADI CIRCLE ON RHS OF NH47 AHMEDABAD-RAJKOT HIGHWAY ROAD	AHMEDABAD	REGULAR	250	OBC	DC	25	25	625	32	75	DRAW OF LOTS	15	4
292	B/W KM STONE 126 AND 131 WITHIN 2 KM FROM BHALKA TIRTH TEMPLE TOWARDS	AHMEDABAD	REGULAR	165	ST	CFS	40	40	1600	0	0	DRAW OF LOTS	0	3
293	SOMNATH ON AMRELI BYPASS HIGHWAY, FROM INTERSECTION WITH	GIR SOMNATH	REGULAR	100	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
294	CHITAL ROAD TO RADHE SHYAM HOTEL	AMRELI	REGULAR	150	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5

			Type of RO		Category	Type of Site	Minimum C	Dimentsion (i site in Sqm	n Mt)/ Area of . *	Finance to ap	be arraned by plicant	Mode of Selection		
SR NO	Location Name	Revenue District	Rural/ Regular	Estimated Monthly Sales potential (MS+HSD) #	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC CC-1 OBC CC-1 OBC PH OPEN CC-2 OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of lots/Bidding	Fixed Fee / Minimum Bid amount	Security Deposit
295	WITHIN MUNICIPAL LIMITS OF KODINAR VADWALA-RANA VILLAGE ON NH 27	GIR SOMNATH	REGULAR	150	OBC SC	DC CFS	20	20	400 1225	32	55	DRAW OF LOTS	15 0	4
296 297	BEETWEEN UNTVAD AND CHAVAND, ON RAJKOT-	PORBANDAR	REGULAR	150	OPEN	DC	35	35	1225	0 32	95	DRAW OF LOTS DRAW OF LOTS	15	5
298	BHAVNAGAR ROAD VIA BABRA WITHIN MUNICIPAL LIMITS OF VERAVAL	GIR SOMNATH	REGULAR	140	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
299	BETWEEN HOTEL RADHE SHYAM AND BAGASARA (INCLUDING BAGASARA BYPASS) ON NH 351 (AMRELI- BAGASARA HIGHWAY)	AMRELI	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
300 301	WITHIN 2 KM FROM HOTEL NAMASTE TOWARDS GADU ON NH 51, ON LHS WHILE MOVING FROM VERAVAL TO GADU WITHIN MUNICIPAL LIMITS OF AMRELI	GIR SOMNATH	REGULAR	150 150	ST	CFS DC	35 20	35 20	1225 400	0	0	DRAW OF LOTS	0	3
301	WITHIN MUNICIPAL LIMITS OF RAJULA	AMRELI	REGULAR	130	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
303	ON SARU SECTION ROAD, WITHIN MUNICIPAL LIMITS OF JAMNAGAR	JAMNAGAR	REGULAR	200	OPEN	DC	18	18	324	32	75	DRAW OF LOTS	15	5
304	BETWEEN MORBI AND JAMBUDIYA ON MORBI WANKANER ROAD BETWEEN KM STONE 50 AND 53 ON BHUI BHACHAU ROAD	MORBI	REGULAR	240	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
305	BETWEEN KM STONE SO AND S3 ON BHUJ BHACHAU KOAD SH42 ON LHS WHILE GOING FROM BHUJ TO BHACHAU BETWEEN HALVAD AND KAVADIYA ON HALVAD	КИТСН	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
306	AHMEDABAD ROAD ON INDRA GANDHI ROAD, WITHIN MUNICIPAL LIMIT OF	MORBI	REGULAR	180	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
307	JAMNAGAR	JAMNAGAR	REGULAR	180	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
308	WITHIN 1KM FROM TRAJPAR CHOKDI, TOWARDS MORBI CITY	MORBI	REGULAR	500	OPEN	DC	20	30	600	32	55	DRAW OF LOTS	15	5
309	BETWEEN ANJAR AND VERSHAMEDI ON NH 341 VILLAGE JAMBUDA ON JAMNAGAR RAJKOT ROAD, LHS	KUTCH	REGULAR	150 180	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
310	FROM JAMNAGAR TO RAJKOT VILLAGE MAKANSAR, LHS FROM MORBI TO WANKANER ON	JAMNAGAR	REGULAR		OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
311 312	MORBI WANKANER ROAD BETWEEN VILLAGE THANAGALOL AND CHARAN SAMADHIYALA, ON JETPUR-VADIYA HIGHWAY	RAJKOT	REGULAR	320 100	OPEN OPEN CC-1	DC DC	35 35	35 35	1225 1225	32 32	95	DRAW OF LOTS	15 15	5
313	WITHIN 2 KM OF POLICE TRAINING BHAWAN ON POLICE GROUND ROAD IN BHUJ CITY	KUTCH	REGULAR	150	OBC	сс	20	20	400	32	12	BIDDING	30	4
314	KOLIKHADA VILLAGE ON NH51	PORBANDAR	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
315	BETWEEN SAMARPARN CIRCLE AND SECOND GATE OF BAPS MANDIR ON AIRPORT ROAD	JAMNAGAR	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
316 317	VILLAGE LALPUR ON JAMNAGAR LALPUR ROAD BEETWEEN GIRGADHADA AND DHOKADVA, ON GIRGADHADA-DHOKADVA ROAD VIA DRON	JAMNAGAR GIR SOMNATH	REGULAR	150 100	OPEN OBC	DC DC	35 30	35 30	1225 900	32 32	75 75	DRAW OF LOTS	15 15	5
318	WITHIN 4 KM FROM GUJARAT HEAVY CHEMICAL LIMITED (GHCL) SUTRAPADA MAIN GATE TOWARDS VERAVAL ON SUTRAPADA-VERAVAL HIGHWAY	GIR SOMNATH	REGULAR	130	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
319	BETWEEN GULABNAGAR OVERBRIDGE AND DHUNVAV POLICE STATION, LHS FROM JAMNAGAR TO RAJKOT, JAMNAGAR RAJKOT ROAD	JAMNAGAR	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
320	WITHIN 1KM FROM NAYARA PETROL PUMP(DEV PETROLEUM) ON MORBI JETAPAR ROAD, LHS TOWARDS MORBI CITY	MORBI	REGULAR	180	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
321	BETWEEN TIMBDI AND GALA ON MORBI KANDLA HIGHWAY, LHS FROM KANDLA TO MORBI	MORBI	REGULAR	210	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
322	BETWEEN THEBA CHOWK AND KALAVAD ON KALAVAD JAMNAGAR ROAD	JAMNAGAR	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
323	BEETWEEN INGROLA AND BAGASARA VIA DHARI-HAMAPUR	AMRELI	REGULAR	150	ST CC-1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
324	WITHIN JASDAN MUNICIPAL LIMITS NOT ON NH/SH FROM HOTEL WOODS AT SASAN TOWARDS SASAN WITHIN	RAJKOT	REGULAR	100	OPEN CC-2	DC	20	25	500	32	55	DRAW OF LOTS	15	5
325	GIR SOMNATH DISTRICT LIMITS	GIR SOMNATH	REGULAR	100	OBC CC-1	DC	30	30	900	32	75	DRAW OF LOTS	15	4
326	BETWEEN FALLA AND VARANA ON FALLA KALAVAD ROAD	JAMNAGAR	REGULAR	120	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
327	SHIL VILLAGE ON NH51 BETWEEN KHIRAI AND JUNA NAGDAWAS ON MORBI	PORBANDAR MORBI	REGULAR	150 215	ST OBC	CFS DC	35	35	1225 1225	0 32	95	DRAW OF LOTS	0	3
329	KANDLA HIGHWAY, LHS FROM KANDLA TO MORBI BETWEEN BANDHUNAGAR AND VAGASIYA ON MORBI	MORBI		320	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
	WANKANER ROAD, LHS FROM MORBI TO WANKANER BETWEEN DADIYA AND VADPANCHASRA ON JAMNAGAR		REGULAR											
330 331	SAMANA ROAD BETWEEN JAMJODHPUR AND VADPANCHASRA ON JAMNAGAR -SAMANA- JAMJODHPUR ROAD	JAMNAGAR	REGULAR	120 150	OPEN	CC DC	35 35	35 35	1225	32 32	12 75	BIDDING DRAW OF LOTS	30 15	5
332	ON NH-51, WITHIN 10 KM FROM KESARIYA FLYOVER TOWARDS UNA (NOT ALONG THE FLYOVER)	GIR SOMNATH	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
333	BETWEEN PIPALIYA CHAR RASTA AND MALIYA ON NH 151A	MORBI	REGULAR	190	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
334 335	GIDC MORBI, ON GIDC MAIN ROAD LAKHASAR HAPA VILLAGE, ON SH 23	MORBI DEVBHUMI DWARKA	REGULAR	180 100	OPEN OBC	DC DC	20 35	20 35	400 1225	32 32	55 75	DRAW OF LOTS DRAW OF LOTS	15 15	5
336 337	MAKHIYALA VILLAGE ON SH 26 BETWEEN NAYARA PETROL PUMP(PRIME PETROLEUM) AND ITI COLLEGE, LHS TOWARDS HALVAD ON SH 22	JUNAGADH	REGULAR	100	ST OPEN	CFS DC	35	35	1225	0 32	0	DRAW OF LOTS	0	3
338	VILLAGE DOLATPAR, TALUKA LAKHPAT ON SH42 BHUJ DAYAPAR HIGHWAY	КИТСН	REGULAR	100	OPEN CC-1	сс	35	35	1225	32	12	BIDDING	30	5
339	ON NH-51, BETWEEN KAJLI AND SUNDARPARA, ON LHS WHILE MOVING FROM VERAVAL TO KODINAR	GIR SOMNATH	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
340	MITADI VILLAGE ON SH 97 MORBI CITY ON CANAL MORBI ROAD	JUNAGADH MORBI	REGULAR	100 180	ST OPEN	CFS DC	35	35 20	1225	0 32	0	DRAW OF LOTS DRAW OF LOTS	0	3
341	BETWEEN KHIRAI AND MANABA ON MALIYA HALAVAD	MORBI	REGULAR	115	OPEN	cc	16 35	35	320 1225	32	12	BIDDING	15 30	5
343	ROAD HALVAD WITHIN MUNICIPAL LIMITS ON LUHARVADI ROAD	MORBI	REGULAR	160	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
344	BETWEEN AMRAN AND PIPALIYA CHAR RASTA ON NH 151A, LHS FROM AMRAN TO PIPALIYA	MORBI	REGULAR	170	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
345	KHIJADIYA VILLAGE ON SH 100	JUNAGADH	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
346	VILLAGE KHIRI ON SH 6 BEETWEEN DUNGAR AND VICTOR, ON DUNGAR-VICTOR	JAMNAGAR	REGULAR	120	OPEN OBC	CC DC	35 30	35	1225 900	32	12	BIDDING DRAW OF LOTS	30 15	5
348	ROAD BETWEEN BANDHUNAGAR AND VAGASIYA ON MORBI	MORBI	REGULAR	215	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
349	WANKANER ROAD, RHS FROM MORBI TO WANKANER WITHIN 5KM FROM GADU TOWARDS JUNAGADH ON NH	JUNAGADH	REGULAR	150	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	151						_		-	-			L	

			Type of RO		Category	Type of Site	Minimum E	Dimentsion (i site in Sqm	n Mt)/ Area of .*	Finance to ap	be arraned by plicant	Mode of Selection		
SR NO	Location Name	Revenue District	Rural/ Regular	Estimated Monthly Sales potential (MS+HSD) #	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN CC-2 OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of lots/Bidding	Fixed Fee / Minimum Bid amount	Security Deposit
350	WITHIN 5 KM FROM STATUE OF SARDAR PATEL AT MOTA LILYA ON ANY STATE HIGHWAY	AMRELI	REGULAR	100	OBC PH	DC	30	30	900	32	75	DRAW OF LOTS	15	4
351 352	BETWEEN ANIYARI AND BELA RANGPAR ON SH 321 BETWEEN WANKANER AND LIMBALA ON NH 27	MORBI MORBI	REGULAR	260 220	OPEN OPEN	DC DC	35 35	35 35	1225 1225	32 32	75 95	DRAW OF LOTS DRAW OF LOTS	15 15	5
353	BETWEEN MITHAPUR AND HAMAPUR, ON CHALALA- HAMAPUR ROAD	AMRELI	REGULAR	100	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	4
354	WITHIN MUNICIPAL LIMIT OF MANGROL CITY	JUNAGADH	REGULAR	120	ST	CFS	25	20	500	0	0	DRAW OF LOTS	0	3
355	VILLAGE THIKARIYALA ON RAJKOT AHMEDABAD HIGHWAY BETWEEN KM STONE 348 AND KM STONE 352 ON	MORBI	REGULAR	220	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
356	GANDHIDHAM SAMAKHIALI HIGHWAY NH41 ON LHS WHILE GOING FROM GANDHIDHAM TO SAMAKHIALI NANI KHODIYAR VILLAGE ON SH 26	KUTCH JUNAGADH	REGULAR	150 100	OPEN OBC	DC DC	35 35	35 35	1225	32 32	95 75	DRAW OF LOTS	15 15	5
358	NAGKA VILLAGE ON NH 151K	PORBANDAR	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
359 0	BETWEEN KM STONE 340 AND KM STONE 348 ON GANDHIDHAM SAMAKHAILI HIGHWAY NH41 ON LHS WHILE GOING FROM GANDHIDHAM TO SAMAKHALI	КИТСН	REGULAR	150	OPEN	сс	35	35	1225	32	12	BIDDING	30	5
360	WITHIN MUNICIPAL LIMITS OF GANDHIDHAM OR ADIPUR (NOT ON SH OR NH) BETWEEN KM STONE 87 AND KM STONE 95 ON BHUJ	китсн	REGULAR	150	OPEN	сс	20	20	400	32	12	BIDDING	30	5
361	KHAVDA HIGHWAY NH341	KUTCH	REGULAR	230	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
362	WITHIN JETPUR MUNICIPAL LIMITS NOT ON NH/SH ON NEW 150 FT RING ROAD, BETWEEN HORN OK PLEASE	RAJKOT	REGULAR	105	OBC	DC	20	25	500	32	55	DRAW OF LOTS	15	4
363	CIRCLE AND BEDI CHOKDI, WITHIN 2 KM OF HORN OK PLEASE CIRCLE ON RHS WHILE GOING TOWARDS BEDI CHOKDI	RAJKOT	REGULAR	160	SC	CFS	20	30	600	0	0	DRAW OF LOTS	0	3
364	BETWEEN JUBILEE CIRCLE AND SMRUTIVAN EXIT GATE ON ROAD CONNECTING SMRITIVAN AND JUBILEE CIRCLE, WITHIN MUNICIPAL LIMITS OF BHUJ	КИТСН	REGULAR	180	OPEN CC-1	сс	20	20	400	32	12	BIDDING	30	5
365	BETWEEN GHANSHYAMPUR AND DIGHADIYA ON HALVAD SARA ROAD	MORBI	REGULAR	120	OBC	сс	35	35	1225	32	12	BIDDING	30	4
366	BETWEEN KM STONE 128 AND KM STONE 135 ON BHUJ KHAVDA HIGHWAY NH341	KUTCH	REGULAR	180	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
367	MADHAVPUR VILLAGE ON NH 51 BETWEEN SP OFFICE ON TAGORE ROAD AND MUNDRA	PORBANDAR	REGULAR	200	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	CIRCLE ON RABINDRANATH TAGORE ROAD IN GANDHIDHAM VILLAGE VADHARVA ON MORBI KANDLA HIGHWAY, LHS	КИТСН	REGULAR		OPEN	cc	18	25	450	32	12	BIDDING	30	5
369	FROM MORBI TO KANDLA BETWEEN OSLO CHOWK AND DEENDAYAL PORT	MORBI	REGULAR	320	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
370	AUTIHORITY MAIN OFFICE ON RABINDRANATH TAGORE ROAD IN GANDHIDHAM ON RAMBAGH ROAD, GANDHIDHAM OR ADIPUR CITY	КИТСН	REGULAR	150	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
371	(WITHIN MUNICIPAL LIMIT) BETWEEN MANDVI AND KODAY ON MANDVI MUNDRA	KUTCH	REGULAR	200	OPEN	сс	18	20	360	32	12	BIDDING	30	5
372 373	HIGHWAY NH41	KUTCH MORBI	REGULAR	150 115	ST CC-1	CFS CC	35	35 35	1225	0 32	0	DRAW OF LOTS BIDDING	0 30	3
373	VILLAGE AMARSAR ON SH 113 BETWEEN KM STONE 20 AND KM STONE 23 ON CHITROD RAPAR ROAD	KUTCH	REGULAR	115	OBC CC-1 OPEN	DC	35 35	35	1225 1225	32	75	DRAW OF LOTS	15	5
375	VILLAGE BALASAR, TALUKA RAPAR, ON BALASAR DHOLAVIRA ROAD	KUTCH	REGULAR	100	OPEN PH	сс	35	35	1225	32	12	BIDDING	30	5
376	BETWEEN MAHANT SIMROLI TO BAVA SIMROLI VILLAGE ON SH 97	JUNAGADH	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
377	VILLAGE BHALGAM ON NH 27, LHS FROM RAJKOT TO WANKANER	MORBI	REGULAR	240	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
378	BETWEEN KM STONE 4 AND KM STONE 6 ON BHUJ NAKHATRANA ROAD SH42 RHS WHILE GOING FROM BHUJ TO NAKHATRANA	КИТСН	REGULAR	150	OPEN	DC	30	35	1050	32	75	DRAW OF LOTS	15	5
379	VILLAGE-KHARA, TALUKA-LILIYA, ON DAMNAGAR-LILIYA ROAD	AMRELI	REGULAR	100	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
380	KHOKHARDA VILLAGE ON SH 99 BETWEEN KM STONE 2 AND KM STONE 4 ON BHUJ	JUNAGADH	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
381	MUNDRA ROAD SH 48 ON RHS WHILE GOING FROM BHUJ TO MUNDRA	КИТСН	REGULAR	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
	BETWEEN KM STONE 324 AND KM STONE 330 ON GANDHIDHAM SAMAKHIALI HIGHWAY NH41 ON LHS WHILE GOING FROM GANDHIDHAM TO SAMAKHIALI	КИТСН	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
	BETWEEN VILLAGE ANJAR AND VILLAGE SAPEDA ON ANJAR BHUJ HIGHWAY NH341, LHS WHILE GOING FROM ANJAR TO BHUJ	КИТСН	REGULAR	150	OPEN	сс	35	35	1225	32	12	BIDDING	30	5
384	BETWEEN HALVAD AND TIKAR ON HALVAD TIKAR ROAD	MORBI	REGULAR	120	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
385 386	VILLAGE CHULDI ON SH 98 BETWEEN KM STONE 7 AND KM STONE 9 ON BHUJ MUNDRA ROAD SH48	JUNAGADH KUTCH	REGULAR	100 100	ST OPEN	CFS CC	35 35	35 35	1225 1225	0 32	0	DRAW OF LOTS BIDDING	0 30	3 5
387	BETWEEN AMRAN AND PIPALIYA CHAR RASTA ON NH 151A, RHS FROM AMRAN TO PIPALIYA	MORBI	REGULAR	170	OPEN CC-1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
388	ON RUDA RING ROAD, BETWEEN JAMNAGAR HIGHWAY AND KALAWAD ROAD	RAJKOT	REGULAR	160	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
389	VILLAGE NAVI DHARI GUNDALI ON NH 351 BETWEEN KM STONE 375 AND KM STONE 380 ON	JUNAGADH	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
390 9	SAMAKHIALI PALANPUR HIGHWAY NH27 RHS WHILE GOING FROM SAMAKHIALI TO PALANPUR ON RAJKOT JAMNAGAR HIGHWAY, BETWEEN HOSPITAL	КИТСН	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
391	CHOWK AND MADHAPAR CHOKDI WITHIN RAJKOT MUNICIPAL LIMITS, NOT ALONG THE FLYOVER BETWEEN KM STONE 33 AND KM STONE 38 ON BHUJ	RAJKOT	REGULAR	180	OBC	DC	20	25	500	32	75	DRAW OF LOTS	15	4
392	BHACHAU HIGHWAY SH42	KUTCH	REGULAR	120	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
393 394	BETWEEN BAROI AND LUNI ON BAROI TO LUNI ROAD VILLAGE LANGODRA ON NH 51 ON KOTHARIYA ROAD, BETWEEN SORATHIAWADI CIRCLE	KUTCH JUNAGADH	REGULAR	100 150	OPEN ST	CC CFS	35 35	35 35	1225 1225	32 0	12 0	BIDDING DRAW OF LOTS	30 0	5
395	ON KOTHARIYA KOAD, BETWEEN SORATHIAWADI CIRCLE AND RIVERSIDE INTERNATIONAL SCHOOL, WITHIN RAJKOT MUNICIPAL LIMITS	RAJKOT	REGULAR	165	OBC	DC	20	25	500	32	75	DRAW OF LOTS	15	4
396	BETWEEN KM STONE 53 AND KM STONE 57 ON GANDHIDHAM MUNDRA HIGHWAY NH41 (OLD NH8A EXTN)	КИТСН	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
397	BETWEEN KM STONE 38 AND 43 ON BHUJ BHACHAU ROAD SH42	китсн	REGULAR	170	OPEN	сс	35	35	1225	32	12	BIDDING	30	5
	BEETWEEN SUTRAPADA AND KODINAR, ON SUTRAPADA-	GIR SOMNATH	REGULAR	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3

			Type of RO		Category	Type of Site	Minimum C)imentsion (site in Sqm	in Mt)/ Area of I. *		be arraned by oplicant	Mode of Selection		
SR NO	Location Name	Revenue District	Rural/ Regular	Estimated Monthly Sales potential (MS+HSD) #	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC CC-1 OPEN CC-2 OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of lots/Bidding	Fixed Fee / Minimum Bid amount	Security Deposit
399	ON RUDA RING ROAD, BETWEEN BHAVNAGAR HIGHWAY AND MALIYASAN, ON RHS WHILE GOING FROM KALIPAT TO MALIYASAN	RAJKOT	REGULAR	150	ОВС	сс	30	30	900	32	12	BIDDING	30	4
400	ON RANJIT VILAS PALACE ROAD, BETWEEN MANGLAM CIRCLE AND INTERSECTION OF PALACE ROAD WITH BHUJ MIRZAPAR HIGHWAY, WITHIM MUNICIPAL LIMITS OF BHUJ CITY	КИТСН	REGULAR	150	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
401	BETWEEN KM STONE 307 AND KM STONE 313 ON SAMAKHIALI PALANPUR HIGHWAY NH27 ON LHS WHILE GOING FROM SAMAKHIALI TO PALANPUR	KUTCH	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
402	VILLAGE GAGODHAR ON NH27 (SAMAKHIALI PALANPUR HIGHWAY), LHS WHICLE GOING FROM SAMAKHIALI TO PALANPUR	КИТСН	REGULAR	200	ОВС	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
403	BETWEEN DHUTARPUR AND KALAVAD ON FALLA KALAVAD ROAD	JAMNAGAR	REGULAR	120	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
404	BETWEEN KM STONE 10 TO 15 ON MANDVI MUNDRA ROAD STATE HIGHWAY, RHS WHILE GOING FROM GUNDIYALI TO TRAGADI	КИТСН	REGULAR	100	OPEN	сс	35	35	1225	32	12	BIDDING	30	5
405	VILLAGE DAVRI, TALUKA RAPAR, ON RAPAR DHOLAVIRA ROAD, LHS WHILE GOING FROM RAPAR TO DHOLAVIRA	КИТСН	REGULAR	100	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
406	BETWEEN BHOD AND VANANA TOLL PLAZA ON NH 27 ON RUDA RING ROAD, BETWEEN BHAVNAGAR HIGHWAY	PORBANDAR	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
407	AND MALIYASAN, ON LHS WHILE GOING FROM KALIPAT TO MALIYASAN	RAJKOT	REGULAR	150	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
408	BETWEEN KM STONE 136 AND KM STONE 140 ON BHUJ KHAVDA HIGHWAY NH341	KUTCH	REGULAR	180	OPEN	сс	35	35	1225	32	12	BIDDING	30	5
409	BETWEEN VILLAGE CHHADURA AND VILLAGE VAYOR ON NALIYA NARAYAN SAROVAR HIGHWAY NH41 ON NH-27 (NH-8B), BETWEEN 150FT BYPASS INTERSACTION IN MALIYASAN AND VILLAGE HIRASAR, ON LHS WHILE	КИТСН	REGULAR	150	OPEN	сс	35	35	1225	32	12	BIDDING	30	5
410	TRAVELLING FROM RAJKOT TO AHMEDABAD, NOT ALONG THE FLYOVER	RAJKOT	REGULAR	180	OBC	cc	35	35	1225	32	12	BIDDING	30	4
411 412	VILLAGE SIKARA ON BHUJ BHACHAU ROAD SH42 WITHIN 2 KM FROM GHANTIYA PHATAK ON TALALA ROAD	KUTCH GIR SOMNATH	REGULAR	100	OPEN SC	CC CFS	35 30	35 30	1225 900	32	12 0	BIDDING DRAW OF LOTS	30 0	5
413	OR VERAVAL-KODINAR ROAD (NOT ON NH) ON NH-27 (NH-8B), BETWEEN AJI DAM CHOKDI AND SHIVAM KIA SHOWROOM AT GONDAL CHOKDI, WITHIN RAJKOT MUNICIPAL LIMITS	RAJKOT	REGULAR	180	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
414	BETWEEN BHADRA AND TARANA ON NH 151A, LHS FROM BHADRA TO TARANA	JAMNAGAR	REGULAR	170	OPEN CC-1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
415	BETWEEN VILLAGE TALWANA TO VILLAGE BIDADA ON MANDVI MUNDRA HIGHWAY NH41	KUTCH	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
416	IN VILLAGE ARNI, ON ARNI BHAYAVADAR HIGHWAY BETWEEN VADLA VILLAGE AND SHAPUR VILLAGE ON	RAJKOT	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
417	VANTHALI ROAD WITHIN 4 KM FROM SEVEN SKY MULTIPLEX ON AIRPORT	JUNAGADH	REGULAR	120	OBC	DC	35	35	1225	32	55	DRAW OF LOTS	15	4
418	RING ROAD -BHUJ BEETWEEN LOTHPUR AND DHOLADRI, ON LOTHPUR-	KUTCH	REGULAR	150	OPEN	сс	30	30	900	32	12	BIDDING	30	5
419	DHOLADRI ROAD VIA JAFRABAD ON 80 FT ROAD BETWEEN JADEJA PARIWAR SURAPURA MANDIR AND GONDAL HIGHWAY PASSING THROUGH	AMRELI	REGULAR	100	OPEN ST	CFS	30 20	30 25	900	32	0	BIDDING DRAW OF LOTS	30 0	3
421	VAVDI BAMANASA VILLAGE ON NH 151A	DEVBHUMI DWARKA	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
422	BEETWEEN JAMBUR AND ANKOLVADI, ON UNA-TALALA ROAD VIA SURVA	GIR SOMNATH	REGULAR	100	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
423	BEETWEEN DOLASA AND TAD, ON KODINAR-DIU ROAD VIA KESARIYA	GIR SOMNATH	REGULAR	150	OPEN CC-2	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
424	ON RAJKOT MORBI HIGHWAY, BETWEEN BEDI CHOKDI AND VILLAGE KAGDADI, ON RHS WHILE GOING TOWARDS MORBI	RAJKOT	REGULAR	100	OBC CC-1	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
425 426	IN MOTA MAVA, WITHIN RMC LIMITS BEETWEEN UNTVAD AND JANGVAD, ON RAJKOT- BHAVNAGAR ROAD WITHIN AMRELI DISTRICT LIMITS	AMRELI	REGULAR	190 150	SC CC-1 OPEN	CFS CC	20 35	25 35	500 1225	0 32	0	DRAW OF LOTS BIDDING	0 30	3
427	WITHIN 1 KM ON EITHER SIDE OF SHYAM CIRCLE ON LILIYA ROAD, AMRELI	AMRELI	REGULAR	150	OPEN	DC DC	20	20	400	32 32	55 95	DRAW OF LOTS	15	5
428 429 430	AGATRAI VILLAGE ON NH 151 IN VILLAGE CHITRAVAV, ON KOTDA SANGANI- SARDHAR HIGHWAY	JUNAGADH	REGULAR	150 100	OBC ST OPEN	CFS	35	35	1225 1225	0	0	DRAW OF LOTS	15 0	4 3
430 431 432	PARAB VAVDI VILLAGE ON NH351 BETWEEN KM STONE 17 TO 22 ON SH 30 WITHIN MUNICIPAL LIMITS OF DEVBHUMI DWARKA	JUNAGADH JUNAGADH DEVBHUMI DWARKA	REGULAR REGULAR REGULAR	150 100 110	OPEN OPEN OBC	DC DC CC	35 35 20	35 35 25	1225 1225 500	32 32 32	95 75 12	DRAW OF LOTS DRAW OF LOTS BIDDING	15 15 30	5 5 4
432	WITHIN MUNICIPAL LIMITS OF DEVBHUMI DWARKA KHAMBHALIA , ON KHAMBHALIA LALPUR ROAD(NOT ON SH)	DEVBHUMI DWARKA	REGULAR	110	OPEN	DC	20	25	500	32	55	DRAW OF LOTS	30 15	5
434 435	ON NEW JUNAGADH BYPASS ROAD OF NH 151 WITHIN MUNICIPAL LIMITS OF MANAVADAR	JUNAGADH JUNAGADH	REGULAR	150 120	SC OPEN	CFS CC	35 20	35 25	1225 500	0 32	0 12	DRAW OF LOTS BIDDING	0 30	3
436	WITHIN 1 KM OF SAI BABA CIRCLE IN VILLAGE KOTHARIA WITHIN RMC LIMITS, NOT ON NH	RAJKOT	REGULAR	165	ОВС	сс	20	25	500	32	12	BIDDING	30	4
437	BETWEEN CHALALA AND KHAMBHA ON CHALALA- KHAMBHA ROAD	AMRELI	REGULAR	150	OPEN CC-1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
438	ON KHANDHERI ST ROAD, WITHIN 2 KM OF JAMNAGAR HIGHWAY TOWARDS KHANDHERI VILLAGE GADU VILLAGE ON NH 51	RAJKOT	REGULAR	150 150	ST OBC	CFS DC	30 35	30 35	900	0	0 95	DRAW OF LOTS	0	3
439 440 441	BETWEEN CHIKASA AND UNTADA ON NH 51 MAHADEVIYA VILLAGE ON SH 6	PORBANDAR DEVBHUMI DWARKA	REGULAR	150	OPEN OPEN	DC DC DC	35 35 35	35 35 35	1225 1225 1225	32 32 32	95 95 75	DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS	15	5
442	MAHADEVIYA VILLAGE ON SH 6 ON BHADAR ROAD, WITHIN UPLETA MUNICIPAL LIMIT BETWEEN VILLAGE BHIMASAR AND VILLAGE NANDGAM ON	RAJKOT	REGULAR	100	OBC	DC	20	25	500	32	55	DRAW OF LOTS	15	5 4
443	NH 341 BETWEEN KHAMBALIYA AND DANTA ON NH 151A	KUTCH DEVBHUMI DWARKA	REGULAR REGULAR	200 150	ST OPEN	CFS DC	35 35	35 35	1225 1225	0 32	0 95	DRAW OF LOTS DRAW OF LOTS	0	3
444	WITHIN MUNICIPAL LIMITS OF PORBANDAR ON NH-27(NH-8B), BETWEEN APMC-GONDAL MAIN GATE AND JETPUR, NOT ALONG THE FLYOVER AND NOT WITHIN	PORBANDAR	REGULAR	130	OPEN	CC DC	20	25	1225	32	95	BIDDING DRAW OF LOTS	30 15	5
447	1KM OF TOLL BETWEEN KM STONE 315 AND KM STONE 321 ON SAMAKHIALI GANDHIDHAM HIGHWAY NH41 ON LHS WHILE	КИТСН	REGULAR	200	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
448	GOING FROM GANDHIDHAM TO SAMAKHIALI BALEJ VILLAGE ON NH 51	PORBANDAR	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
449	CHOKI VILLAGE ON NH 151 BETWEEN KM STONE 73 AND 75 ON BHUJ BHACHAU ROAD SH42, LHS WHILE GOING FROM BHACHAU TO BHUJ	JUNAGADH	REGULAR	150	OPEN OBC PH	DC DC	35 35	35	1225	32 32	95	DRAW OF LOTS	15 15	5
	3H42, LH5 WHILE GUING FROM BHACHAU TO BHUJ					I								

			Type of RO		Category	Type of Site	Minimum E)imentsion (site in Sqm	in Mt)/ Area of *	Finance to ap	be arraned by oplicant	Mode of Selection		
SR NO	Location Name	Revenue District	Rural/ Regular	Estimated Monthly Sales potential (MS+HSD) #	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC CC-1 OPEN CC-2 OPEN CC-2 OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of lots/Bidding	Fixed Fee / Minimum Bid amount	Security Deposit
451	BETWEEN NAGESHREE AND KHAMBHA VIA DEDAN ON NAGESHREE-KHAMBHA ROAD	AMRELI	REGULAR	NA	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
452	ON MAVDI-KANKOT ROAD BETWEEN MAVDI CREMATORIUM AND RUDA RING ROAD	RAJKOT	REGULAR	155	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
453	BETWEEN SKV SCHOOL-RAJKOT AND PD MALAVIYA COLLEGE, ON GONDAL ROAD, ON LHS WHILE GOING FROM GONDAL CHOKDI TO CIVIL HOSPITAL	RAJKOT	REGULAR	155	OPEN	DC	20	25	500	32	75	DRAW OF LOTS	15	5
454	ON 80 FEET ROAD, BETWEEN SURVANA BHOOMI APARTMENT AND AYUSHMAN HOSPITAL VIA SARVODAY SCHOOL	RAJKOT	REGULAR	230	овс	DC	20	25	500	32	75	DRAW OF LOTS	15	4
455	BETWEEN SWAMI VIVEKANAND FYLOVER AND STATE TRANSPORT WORK SHOP, ON GONDAL ROAD, ON LHS WHILE GOING FROM FLYOVER TO GONDAL CHOKDI, BUT NOT ALONG THE FLYOVER	RAJKOT	REGULAR	155	OPEN	DC	25	20	500	32	75	DRAW OF LOTS	15	5
456	BETWEEN KM STONE 309 AND KM STONE 314 ON SAMAKHIALI GANDHIDHAM HIGHWAY NH41 ON LHS WHILE GOING FROM GANDHIDHAM TO SAMAKHIALI	KUTCH	REGULAR	200	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
457	IN VILLAGE META KHAMBHALIYA, ON GONDAL - DERDI HIGHWAY	RAJKOT	REGULAR	105	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
458	IN VILLAGE MAHIKA, ON RAJKOT BHAVNAGAR HIGHWAY, ON LHS WHILE GOING TOWARDS BHAVNAGAR	RAJKOT	REGULAR	110	ОВС	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
459	ON NANA MAVA ROAD, BETWEEN NANA MAVA CIRCLE AND JAI BHIM CHOWK. ON RHS WHILE GOING FROM NANA MAVA CIRCLE TO JAI BHIM CHOWK	RAJKOT	REGULAR	200	OPEN	DC	20	25	500	32	75	DRAW OF LOTS	15	5
460	BETWEEN KM STONE 32 AND KM STONE 37 ON RHS WHILE GOING FROM BHUJ TO MUNDRA ON SH48	KUTCH	REGULAR	100	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
461	ON RUDA RING ROAD, BETWEEN KALAWAD ROAD AND MAVDI ROAD	RAJKOT	REGULAR	160	ОВС	DC	30	30	900	32	75	DRAW OF LOTS	15	4
462	ON NANA MAVA ROAD, BETWEEN NANA MAVA CIRCLE AND JAI BHIM CHOWK ON LHS, WHILE GOING FROM NANA MAVA CIRCLE TO JAI BHIM CHOWK	RAJKOT	REGULAR	200	OPEN	DC	20	25	500	32	75	DRAW OF LOTS	15	5
463	BETWEEN JAPODAR AND BADHADA, ON RAJULA- SAVARKUNDLA ROAD (NOT ON NH)	AMRELI	REGULAR	100	OPEN CC-1	DC	30	30	900	32	75	DRAW OF LOTS	15	5
464	ON KALAWAD ROAD, BETWEEN KATARIA CIRCLE AND VILLAGE VAJDI, ON LHS WHILE GOING FROM RAJKOT TO KALAWAD	RAJKOT	REGULAR	300	ОВС	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
465	BETWEEN KM STONE 300 AND KM STONE 305 ON SAMAKHIALI MORBI HIGHWAY NH27 ON LHS WHILE GOING FROM SAMAKHIALI TO MORBI	КИТСН	REGULAR	200	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
466	IN ATIKA INDUSTRIES, WITHIN 1KM OF TRISHUL CHOWK	RAJKOT	REGULAR	150	OPEN	DC	20	25	500	32	75	DRAW OF LOTS	15	5
467	ON RAIYA ROAD BETWEEN 150FT RING ROAD AND RAIYA DRAINAGE PUMPING STATION	RAJKOT	REGULAR	160	OPEN	сс	20	25	500	32	12	BIDDING	30	5
468	BETWEEN KM STONE 90 AND KM STONE 100 ON BHUJ DAYAPAR HIGHWAY SH42	КИТСН	REGULAR	150	ОВС	сс	35	35	1225	32	12	BIDDING	30	4
469	BETWEEN KM STONE 288 AND KM STONE 295 ON SAMAKHIALI MORBI HIGHWA'Y NH27 ON LHS WHILE GOING FROM SAMAKHIALI TO MORBI	KUTCH	REGULAR	200	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
470	ON NH27 BETWEEN, GREENLAND CHOKDI AND NEW KUVADVA POLICE STATION, ON LHS WHILE GOING FROM RAJKOT TO AHMEDABAD, WITHIN RAJKOT MUNICIPAL LIMITS	RAJKOT	REGULAR	205	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
471	IN RAILNAGAR, ON ROAD CONNECTING 150 FT RING ROAD AND POPAT PARA POST OFFICE, VIA OVERHEAD WATER TANK IN VILLAGE KALIPAT, ON RUDA RING ROAD, BETWEEN	RAJKOT	REGULAR	150	OPEN	DC	25	20	500	32	75	DRAW OF LOTS	15	5
472	KOTHARIYA ROAD AND BHAVNAGAR HIGHWAY, ON LHS WHILE GOING FROM KOTHARIYA ROAD TO BHAVNAGAR HIGHWAY	RAJKOT	REGULAR	150	OPEN	сс	30	30	900	32	12	BIDDING	30	5
473	VILLAGE ADESAR ON LHS WHILE GOING FROM SAMAKHIALI TO PALANPUR ON NH-27 SAMAKHAIALI PALANPUR HIGHWAY	KUTCH	REGULAR	200	OBC CC-1	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
474	WITHIN MUNICIPAL LIMITS OF WANKANER, NOT ON SH OR NH	MORBI	REGULAR	130	ST CC-1	CFS	16	20	320	0	0	DRAW OF LOTS	0	3
475	BETWEEN KHAMBHA AND BEDIYA, ON KHAMBHA-BEDIYA ROAD WITHIN AMRELI DISTRICT LIMITS	AMRELI	REGULAR	150	OPEN PH	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
476	BETWEEN KM STONE 25 AND KM STONE 29 ON BHUJ BHACHAU HIGHWAY SH42	КИТСН	REGULAR	120	OBC	сс	35	35	1225	32	12	BIDDING	30	4
477	ON GONDAL ATKOT HIGHWAY, BETWEEN VILLAGE RAMOD AND NANA MANDAVA BETWEEN KM STONE 40 AND 44 ON BHUJ MANDVI ROAD,	RAJKOT	REGULAR	110	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
478	BETWEEN KM STONE 40 AND 44 ON BHUJ MANDVI KOAD, LHS WHILE GOING FROM BHUJ TO MANDVI ON NH-27, BETWEEN SHIVAM KIA SHOWROOM AT GONDAL	KUTCH	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
479 480	CHOKIN AND RUDA RIND ROAD CHOKIDI AND RUDA RIND ROAD BETWEEN KM STONE 80 AND KM STONE 85 ON BHUJ KHAVDA HIGHWAY NH341	RAJKOT	REGULAR	160 230	OPEN OBC	CC DC	30 35	30 35	900 1225	32 32	12 95	BIDDING DRAW OF LOTS	30 15	5
481	KHAVDA HIGHWAY NH341 ON ROAD CONNECTING MANDHATA CIRCLE AND FULWADI COMPLEX, WITHIN GONDAL MUNICIPAL CORPORATION	RAJKOT	REGULAR	100	OPEN	сс	20	25	500	32	12	BIDDING	30	5
482	ON ROAD CONNECTING DHEBAR ROAD AND PATEL CHOWK VIA AHIR CHOWK	RAJKOT	REGULAR	165	OPEN	DC	20	25	500	32	75	DRAW OF LOTS	15	5
483	BETWEEN KM STONE 19 AND KM STONE 24 ON GANDHIDHAM MUNDRA HIGHWAY NH41 (OLD 8A EXTN) RHS WHILE GOING FROM GANDHIDHAM TO MUNDRA	КИТСН	REGULAR	200	ST	CFS	35	35	1225	o	0	DRAW OF LOTS	0	3
484	VILLAGE MEGHPAR ON BHUJ MANDVI ROAD (SH 47) ON GONDAL - KOTDA SANGANI ROAD, WITHIN 3 KM OF	KUTCH	REGULAR		OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
485	MANDHATA CIRCLE TOWARDS KOTDA SANGANI ON NH 51, BETWEEN TIMBI AND HINDORNA	RAJKOT AMRELI	REGULAR	103 150	OPEN OPEN CC-1	DC DC	35	35	1225 1225	32 32	75 95	DRAW OF LOTS DRAW OF LOTS	15 15	5
	BETWEEN KM STONE 25 AND KM STONE 30 ON													
487	GANDHIDHAM MUNDRA HIGHWAY NH41 (OLD 8A EXTN) RHS WHILE GOING FROM GANDHIDHAM TO MUNDRA RETWEEN VILLAGE KANDAGARA MOTA AND VILLAGE	KUTCH	REGULAR	200	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
488	BETWEEN VILLAGE KANDAGARA MOTA AND VILLAGE SHIRACHA ON MANDVI MUNDRA ROAD STATE HIGHWAY ON ROAD CONNECTING PAREWADI CHOWK AND 150 FT	KUTCH	REGULAR	180	OBC	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
489	RING ROAD VIA BHAGVATIPARA AREA, NOT UNDER FLYOVER	RAJKOT	REGULAR	155	OPEN	DC	20	25	500	32	75	DRAW OF LOTS	15	5

			Type of RO		Category	Type of Site +	Minimum D	imentsion (site in Sqm	in Mt)/ Area of *		b be arraned by oplicant	Mode of Selection		
SR NO	Location Name	Revenue District	Rural/ Regular	Estimated Monthly Sales potential (MS+HSD) #	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC CC-1 OBC CC-1 OPEN CC-2 OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of lots/Bidding	Fixed Fee / Minimum Bid amount	Security Deposit
490	ON KALAWAD ROAD, BETWEEN COSMOPLEX AND VVP ENGINEERING COLLEGE, ON RHS WHILE GOING FROM	RAJKOT	REGULAR	130	OPEN	сс	30	30	900	32	12	BIDDING	30	5
491	RAJKOT TO KALAWAD BETWEEN KM STONE 258 TO 260 ON NH 27, LHS FROM	MORBI	REGULAR	415	ОВС	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
492	MORBI TO KANDLA BETWEEN KM STONE 31 AND KM STONE 36 ON GANDHIDHAM MUNDRA HIGHWAY NH41 (OLD 8A EXTN) RH5 WHILE GOING FROM GANDHIDHAM TO MUNDRA	китсн	REGULAR	200	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
493	ON ROAD CONNECTING UNIVERSITY ROAD AND KALAWAD ROAD VIA KNOCKOUT CLUB IN RAIKOT MUNICIPAL CORPORATION LIMITS	RAJKOT	REGULAR	165	OPEN	DC	20	25	500	32	75	DRAW OF LOTS	15	5
494	ON NH-27 (NH-8B), BETWEEN NEW AIRPORT MAIN GATE AND 150 FT BYPASS CROSSING IN MALIYASAN, ON RHS WHILE GOING FROM RAIKOT TO AHMEDAGAD, NOT ALONG THE FLYOVER	RAJKOT	REGULAR	180	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
495	VILLAGE MEGHPAR KUMBHARDI ON ADIPUR ANJAR ROAD	KUTCH	REGULAR	150	ОВС	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
496	VILLAGE BAHDURGARH ON MORBI KANDLA ROAD, LHS FROM MORBI TO KANDLA	MORBI	REGULAR	210	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
497	IN ATIKA INDUSTRIES, WITHIN 1KM OF RAILWAY TRACK	RAJKOT	REGULAR	185	OPEN	сс	20	25	500	32	12	BIDDING	30	5
498	ON KALAWAD ROAD, BETWEEN VILLAGE METODA AND HERITAGE KHIRASARA PALACE	RAJKOT	REGULAR	160	OPEN	сс	35	35	1225	32	12	BIDDING	30	5
499	VILLAGE DUDHAI ON SH42 (BHUJ TO BHACHAU ROAD)	KUTCH	REGULAR	110	ОВС	DC	35	35	1225	32	75	DRAW OF LOTS	15	4
500	BETWEEN KM STONE 39 AND KM STONE 44 ON GANDHIDHAM MUNDRA HIGHWA'N NH41 (OLD BA EXTN) RHS WHILE GOING FROM GANDHIDHAM TO MUNDRA	КИТСН	REGULAR	200	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
501	ON RUDA RING ROAD, WITHIN 2KM FROM MAVDI ROAD TOWARDS RAJKOT-GONDAL HIGHWAY	RAJKOT	REGULAR	150	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
502	BETWEEN KM STONE 1 AND KM STONE 5 ON GANDHIDHAM MUNDRA HIGHWAY NH41 (OLD 8A EXTN) ON EITHER SIDE	КИТСН	REGULAR	200	OBC	сс	35	35	1225	32	12	BIDDING	30	4
503	ON 150FT RING ROAD, BETWEEN MADHAPAR CHOKDI AND BEDI CHOKDI	RAJKOT	REGULAR	185	OPEN	DC	20	25	500	32	75	DRAW OF LOTS	15	5
504	ON JAMNAGAR HIGHWAY, BETWEEN MADHAPAR CHOKDI AND THE GRAND MURLIDHAR HOTEL, ON RHS WHILE GOING FROM RAIKOT TO JAMNAGAR	RAJKOT	REGULAR	160	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
505	BETWEEN KM STONE 45 AND KM STONE 50 ON GANDHIDHAM MUNDRA HIGHWA'N H41 (OLD BA EXTN) RHS WHILE GOING FROM GANDHIDHAM TO MUNDRA	КИТСН	REGULAR	200	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
506	BETWEEN KM STONE 6 AND KM STONE 11 ON GANDHIDHAM MUNDRA HIGHWA'Y NH41 (OLD 8A EXTN) ON EITHER SIDE	KUTCH	REGULAR	200	ОВС	сс	35	35	1225	32	12	BIDDING	30	4
507	WITHIN GONDAL MUNICPAL LIMITS, ON ROAD CONNECTING KRISHNA MULTISPECIALITY HOSPITAL AND THE GRAND KHODIYAR RESTAURANT, NOT ALONG FLYOVER ON MORBI BYE PASS ROAD, LHS TOWARDS MALIYA	RAJKOT	REGULAR	110	OPEN	DC DC	20	20	400	32	55	DRAW OF LOTS	15	5
509	BETWEEN BED AND ZANKAR ON JAMNAGAR DWARKA HIGHWAY	JAMNAGAR	REGULAR	165	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
510	WITHIN MUNDRA MUNICIPAL LIMITS, NOT ON SH/NH ON LHS FROM GANDHI CHOWK TO RAJKOT DISTRICT	KUTCH	REGULAR	140	OBC	сс	20	20	400	32	12	BIDDING	30	4
511	COOPERATIVE BANK ON SANALA ROAD, BETWEEN RAJULA AND DEDAN, ON RAJULA-DEDAN ROAD	MORBI	REGULAR	160	OPEN	DC	18	18	324	32	55	DRAW OF LOTS	15	5
512	VIA HINDORNA BETWEEN KM STONE 6 AND KM STONE 16 ON BHUJ	AMRELI	REGULAR	100	OPEN CC-1	DC	30	30	900	32	75	DRAW OF LOTS	15	5
513 514	NAKHATRANA ROAD SH42 DHARAMPUR VILLAGE ON NH 51	KUTCH PORBANDAR	REGULAR	190 150	OBC SC	CC CFS	35 35	35 35	1225 1225	32 0	12	BIDDING DRAW OF LOTS	30 0	4
515	BETWEEN BHAKTINAGAR CIRCLE AND VIRPAR ON RAJKOT	MORBI	REGULAR	140	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
516	MORBI HIGHWAY ON JAMNAGAR SAMANA ROAD,FROM PAVANCHAKI CIRCLE TO LALPUR BYEPASS CHOKDI	JAMNAGAR	REGULAR	180	OPEN	сс	20	20	400	32	12	BIDDING	30	5
517	WITHIN 3KM FROM MADHURAM GATE TOWARDS VANTHALI, JUNAGADH WITHIN MUNICIPAL LIMIT	JUNAGADH	REGULAR	120	ОВС	DC	30	30	900	32	55	DRAW OF LOTS	15	4
518	BETWEEN VILLAGE KADIYANA AND PALAS ON WANKANER HALAVD ROAD	MORBI	REGULAR	115	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
519	BETWEEN BALVA AND JAMJODHPUR ON BHANVAD JAMJODHPUR ROAD	JAMNAGAR	REGULAR	200	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
520	ON RAJKOT JAMNAGAR HIGHWAY, IN VILLAGE GHANTESHWAR, ON LHS WHILE GOING FROM RAJKOT TO JAMNAGAR	RAJKOT	REGULAR	180	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
521	MAJEVADI GATE TO AASHIRWAD HOTEL, JUNAGADH WITHIN MUNICIPAL LIMIT	JUNAGADH	REGULAR	100	OBC	DC	20	25	500	32	55	DRAW OF LOTS	15	4
522 523	WITHIN RAJKOT MUNICIPAL LIMITS, NOT ON NH/SH BETWEEN PANCHASARA NANA AND MURLIA ON SH 23	RAJKOT JAMNAGAR	REGULAR	150 120	OPEN ST CC-1	DC CFS	20 35	25 35	500 1225	32	75 0	DRAW OF LOTS	15 0	3
524	BETWEEN KM STONE 330 AND KM STOME 335 ON SAMAKHIALI PALANPUR HIGHWAY NH27 ON LHS FROM SAMAKHIALI TO PALANPUR ON RUBA DIAD. BETWEEN BAIXOT CONDAL	КИТСН	REGULAR	150	OPEN CC-2	сс	35	35	1225	32	12	BIDDING	30	5
525	ON RUDA RING ROAD, BETWEEN RAJKOT-GONDAL HIGHWAY AND KOTHARIYA ROAD	RAJKOT	REGULAR	150	OBC CC-1	DC	30	30	900	32	75	DRAW OF LOTS	15	4
526 527	IN VILLAGE VALADHARI, ON KOLITHAD - RIBDA HIGHWAY BETWEEN ANIYARI AND HALVAD ON SH 7	RAJKOT MORBI	REGULAR	100 120	OPEN ST	DC CFS	35 35	35 35	1225 1225	32 0	75 0	DRAW OF LOTS	15 0	5
527	BETWEEN ANIYAKI AND HALVAD ON SH 7 BETWEEN BHALGAM AND RANGPAR ON NH 27, LHS FROM WANKANER TO RAJKOT	MORBI	REGULAR	225	ОВС	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
529	ON GONDAL ATKOT HIGHWAY, WITHIN GONDAL MUNICIPAL CORPORATION	RAJKOT	REGULAR	150	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
530	ON SH113, BETWEEN VILLAGE SANOSARA AND WAKANER, WITHIN RAJKOT DISTRICT	RAJKOT	REGULAR	110	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
531	WITHIN 2 KM ON UNA-TALALA ROAD, FROM INTERSECTION OF UNA-TALALA ROAD WITH VERAVAL-SASAN ROAD	GIR SOMNATH	REGULAR	100	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
532	VILLAGE JUNA SADULKA ON MORBI KANDLA ROAD, LHS FROM MORBI TO KANDLA	MORBI	REGULAR	210	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

			Type of RO		Category	Type of Site *	Minimum D	imentsion (i site in Sqm	n Mt)/ Area of .*	Finance to ap	be arraned by plicant	Mode of Selection		
SR NO	Location Name	Revenue District	Rural/ Regular	Estimated Monthly Sales potential (MS+HSD) #	SC SC CC-1 ST PH OBC OBC CC-1 OBC CC-1 OBC PH OPEN CC-1 OPEN CC-1 OPEN CC-2 OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of lots/Bidding	Fixed Fee / Minimum Bid amount	Security Deposit
533	ON NH-27(NH-8B), BETWEEN SHAPAR AND APMC-GONDAL MAIN GATE, NOT ALONG WITH FLYOVER, NOT WITHIN 1 KM	RAJKOT	REGULAR	200	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
534	OF BHARUDI TOLL PLAZA BETWEEN LIMBALA AND RANGPAR ON NH 27	MORBI	REGULAR	270	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
535	WITHIN 2 KM FROM TALALA BUS STAND, ON LHS OF TALALA-VERAVAL ROAD WHILE MOVING FROM TALALA TO VERAVAL	GIR SOMNATH	REGULAR	110	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
536	IN VILLAGE VAVDI, ON ROAD CONNECTING PUNIT NAGAR CIRCLE AND JADEJA PARIVAR SURAPURA MANDIR VIA VRINDAVAN CITY COMPLEX	RAJKOT	REGULAR	150	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
537	WITHIN MUNICIPAL LIMITS OF MORBI NOT ON NH/SH BETWEEN HALAVAD AND SUNDARGARH ON HALVAD	MORBI	REGULAR	120	OPEN	DC	16	20	320	32	55	DRAW OF LOTS	15	5
538	MORBI ROAD	MORBI	REGULAR	120	OPEN CC-1	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
539	ON NH 251, WITHIN 2 KM FROM INTERSECTION WITH NAVABANDAR-DELVADA ROAD, ON LHS WHILE MOVING FROM DIU TO UNA	GIR SOMNATH	REGULAR	150	OBC	сс	35	35	1225	32	12	BIDDING	30	4
540	ON NH 51, FROM INTERSECTION WITH PIPAVAV PORT ROAD TOWARDS DATARDI, WITHIN AMRELI DISTRICT LIMITS ON NH 51, BETWEEN AJOTHA AND SONARIYA, ON LHS	AMRELI	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
541 542	WHILE MOVING FROM KODINAR TO VERAVAL BETWEEN APM TERMINAL PIPAVAV PORT GATE AND	GIR SOMNATH AMRELI	REGULAR	150 150	OPEN OPEN	DC CC	35 35	35 35	1225	32 32	95 12	DRAW OF LOTS BIDDING	15 30	5
543	HINDORNA, ON HINDORNA-PIPAVAV PORT ROAD WITHIN MUNICIPAL LIMITS OF UNA	GIR SOMNATH	REGULAR	130	OBC	DC	20	20	400	32	55	DRAW OF LOTS	15	4
544	WITHIN MUNICIPAL LIMITS OF SAVARKUNDLA	AMRELI	REGULAR	130	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
545	ON NH 51, WITHIN 8 KM FROM DARI TOLL PALAZA TOWARDS GADU, ON LHS WHILE MOVING FROM VERVAL TO GADU WITHIN GIR SOMNATH DISTRICT LIMITS	GIR SOMNATH	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
546	WITHIN BHUJ MUNICIPAL LIMITS, NOT ON NH/SH BETWEEN KARIYANA AND BABRA ON BABRA-KARIYANA	KUTCH	REGULAR	150	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
547	ROAD	AMRELI	REGULAR	100	OBC	сс	30	30	900	32	12	BIDDING	30	4
548	IN VILLAGE MAVDI, BETWEEN GONDAL ROAD AND 150 FT INTERNAL RING ROAD, INCLUDING 150 FT INTERNAL RING ROAD	RAJKOT	REGULAR	150	OPEN	DC	20	25	500	32	75	DRAW OF LOTS	15	5
549 550	GOSA VILLAGE ON NH 51 OKHA VILLAGE ON NH 51	PORBANDAR DEVBHUMI DWARKA	REGULAR REGULAR	150 150	SC PH OBC PH	CFS DC	35 35	35 35	1225 1225	0 32	0 95	DRAW OF LOTS DRAW OF LOTS	15	3
551	WITHIN MUNICIPAL LIMITS OF KHAMBHALIA	DEVBHUMI DWARKA	REGULAR	120	OPEN	DC	20	25	500	32	55	DRAW OF LOTS	15	5
552	WITHIN JAMNAGAR MUNICIPAL LIMITS, NOT ON NH/SH	JAMNAGAR	REGULAR	150	OPEN	DC	18	18	324	32	55	DRAW OF LOTS	15	5
553	BETWEEN KM STONE 1 TO 5 ON ANJAR LAKHAPAR ROAD	KUTCH	REGULAR	100	OBC	сс	35	35	1225	32	12	BIDDING	30	4
554	BETWEEN UNA (INCLUDING UNA BYPASS) AND GANGDA ON NH-51 ON LHS, VILLAGE KAKADKUVA TOWARDS NANAPONDA, ON	GIR SOMNATH VALSAD	REGULAR	150 200	ST OPEN	CFS DC	35 35	35 35	1225	0	0 95	DRAW OF LOTS	0	3
556	NH56 VILLAGE DEGAM ON NH56	VALSAD	REGULAR	200	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
557	ON LHS, WITHIN 1.5 KM FROM VADKHAMBHA CIRCLE TOWARDS KAPRADA, ON SH67 ON LHS, FROM WAGHAI CHECK POST TO PIMPRI SUB POST	VALSAD THE DANGS	REGULAR	150	OBC ST	CC CFS	30 30	30 30	900	32	12	BIDDING DRAW OF LOTS	30 0	4
559	OFFICE, ON SH14 ON RHS, WITHIN 1 KM FROM AKARA MARUTI TEMPLE TOWARDS UMARGAON RAILWAY STATION, ON UMERGAON	VALSAD	REGULAR	180	OPEN	DC	30	30	900	32	55	DRAW OF LOTS	15	5
560	RAILWAY STATION ROAD ON RHS, VILLAGE KARWAD TOWARDS MOTAPONDA, ON NH56	VALSAD	REGULAR	260	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
561	WITHIN 1 KM FROM BALCHONDI PRIMARY SCHOOL, ON	VALSAD	REGULAR	200	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
562	NH56 ON RHS, WITHIN 1 KM FROM SAHYOG HOTEL TOWARDS HALOL ON SH5	PANCHMAHAL	REGULAR	130	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
563	ON LHS, VILLAGE KALWADA TOWARDS KHERGAM, ON GUNDLAV-KHERGAM ROAD	VALSAD	REGULAR	180	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
564	FROM ATUL CHAR RASTA TO RAILWAY BRIDGE VALSAD, ON ATUL-VALSAD ROAD	VALSAD	REGULAR	220	OPEN CC-1	DC	25	25	625	32	55	DRAW OF LOTS	15	5
565	ON RHS, VILLAGE GAMLA FROM DAHOD TO KATWARA, ON NH47	DAHOD	REGULAR	170	OBC	сс	35	35	1225	32	12	BIDDING	30	4
566	ON LHS, WITHIN 1.5 KM FROM LILIPORE CHAR RASTA CIRCLE TOWARDS KAPRI FATAK , ON SH183	VALSAD	REGULAR	200	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
567	WITHIN 3 KMS FROM NAYARA PETROL PUMP, AHWA TOWARDS NAVAPUR , ON AHWA-NAVAPUR SH ON RHS, VILLAGE DABKHAL, TALUKA KAPRADA TOWARDS	THE DANGS	REGULAR	150	ST OPEN	CFS	30	30	900	0	0	DRAW OF LOTS BIDDING	0	3
568 569	NASHIK, ON NH848 ON RHS, VILLAGE SALIYA TOWARDS DAHOD, ON NH47	VALSAD	REGULAR	200	OPEN	CC DC	35	35	1225	32 32	12 95	DRAW OF LOTS	30	5
570	ON LHS, FROM BALAJI WAFERS PVT. LTD. UPTO VASAD	VALSAD	REGULAR	200	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
571	DISTRCIT LIMIT, ON NH48 ON LHS , WITHIN 1KM FROM HALOL BYPASS CIRCLE TOWARDS GODHRA ON SH5	PANCHMAHAL	REGULAR	150	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
572	FROM VALIA TOWN TO VILLAGE KARA, ON SH168 ON LHS, FROM HOTEL EKTA MOTIWADA TO PAR RIVER	BHARUCH	REGULAR	150 250	ST CC-1	CFS DC	30 35	30 35	900	0	0	DRAW OF LOTS	0	3
574	BRIDGE, ON NH48 VILLAGE- KANJARI ON RHS TOWARDS GODHRA ON SH5	VALSAD	REGULAR	200	OBC CC-1 OPEN	DC	30	30	1225 900	32 32	95 75	DRAW OF LOTS	15	5
575	WITHIN 4 KM OF NETRANG CHOWKDI, ON NH56	BHARUCH	REGULAR	180	OPEN PH	CC	35	35	1225	32	12	BIDDING	30	5
576	ON LHS, WITHIN 1.5 KM FROM PRIMARY SCHOOL MOTAMALUNGA TOWARDS NADAGCHOND, ON SH174 ON RHS, WITHIN 1 KM FROM TRUPTI HOTEL TRI JUNCTION	THE DANGS	REGULAR	150	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
577	TOWARDS HALOL ON SH5 ON LHS, FROM RTO CIRCLE TO GONDRA CIRCLE ON	PANCHMAHAL	REGULAR	170	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4 E
578 579	GONDRA ROAD ON RHS, WITHIN 2 KM FROM GONDRA CIRCLE ON HALOL GODHRA ROAD, TOWARDS HALOL	PANCHMAHAL	REGULAR	160 140	OPEN OBC	DC DC	25 25	25 25	625 625	32 32	55	DRAW OF LOTS	15 15	5
580	ON LHS, FROM HALOL BYPASS TO PAVAGADH ON SH5	PANCHMAHAL	REGULAR	150	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
581	VILLAGE SANTRAMPUR ON COLLEGE ROAD ON RHS, VILLAGE KHAROD TOWARDS DAHOD ON SH58	DAHOD	REGULAR	120	OPEN OPEN	DC DC	25 30	25 30	625 900	32	55	DRAW OF LOTS	15	5
	ON RHS, VILLAGE KHAROD TOWARDS DAHOD ON SH58 ON RHS, WITHIN 2 KMS FROM GANDHI CHOWK TOWARDS					-								
583 584	DAHOD, ON GODHRA DAHOD ROAD WITHIN GODHRA TOWN LIMITS, ON GODHRA DAMAVAV	PANCHMAHAL	REGULAR	130	OPEN OBC	DC DC	25 25	25 25	625	32	55	DRAW OF LOTS	15 15	5
	ROAD			1 - 30										Ĺ

			Type of RO		Category	Type of Site	Minimum D)imentsion (site in Sqm	in Mt)/ Area of I.*		be arraned by plicant	Mode of Selection		
SR NO	Location Name	Revenue District	Rural/ Regular			CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of lots/Bidding	Fixed Fee / Minimum Bid amount	Security Deposit
585	ON RHS, VILLAGE KAKADKUVA TOWARDS NANAPONDA, ON NH56	VALSAD	REGULAR	200	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
586	ON LHS, VILLAGE VEGANPUR, TOWARDS DAHOD, ON NH47	PANCHMAHAL	REGULAR	160	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
587	ON RHS, FROM CHHOTAUDEPUR TO VILLAGE LEHVANT ON NH56	CHHOTAUDEPUR	REGULAR	150	OPEN CC-1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
588	VILLAGE VARVADA, ON SH150 ON RHS, WITHIN 1.5 KM FROM WAGHAI CHECK POST	PANCHMAHAL	REGULAR	120	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
589	TOWARDS SAPUTARA , ON NH360	THE DANGS	REGULAR	200	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
590	ON RHS, VILLAGE KHAROD, TOWARDS DAHOD, ON NH56 ON LHS, WITHIN 3 KM FROM GONDRA CIRCLE TOWARDS	DAHOD	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
591 592	HALOL ON HALOL GODHRA ROAD VILLAGE HADAMATIYA, ON SH63	PANCHMAHAL MAHISAGAR	REGULAR	150 120	OBC OPEN	DC DC	25 30	25 30	625 900	32 32	55	DRAW OF LOTS DRAW OF LOTS	15 15	4
593	ON LHS, WITHIN 2KM FROM MAKHANSINGH DA DHABA HOTEL TOWARDS SHEHERA ON SH5	PANCHMAHAL	REGULAR	150	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
594	WITHIN 1.5 KM FROM MORZIRA PRIMARY SCHOOL TOWARDS CHINCHALI ON SH14 AHWA - CHINCHALI ROAD	THE DANGS	REGULAR	150	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
595	VILLAGE - KHAMAR, FROM KM STONE 490 AND KM STONE 492 ON NH56	NARMADA	REGULAR	250	OBC	сс	35	35	1225	32	12	BIDDING	30	4
596	ON LHS, VILLAGE MOTA SONELA TOWARDS MODASA, ON SH5	MAHISAGAR	REGULAR	100	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
597	ON RHS, VILLAGE KARVAI TOWARDS GHASWADA ON SH2A	MAHISAGAR	REGULAR	100	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
598	WITHIN 2 KM FROM LALSAR CHOWKDI ON SH69 FROM ISKON CIRCLE TO ICAI CIRCLE, ON MINIMUM 18	CHHOTAUDEPUR	REGULAR	150	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
599	METER ROAD ON RHS, WITHIN 1 KM FROM ALIPURA CHAR RASTA, BODELI	VADODARA	REGULAR	200	OBC	DC	20	25	500	32	75	DRAW OF LOTS	15	4
600	TOWARDS DABHOI, ON SH11 WITHIN 2 KM FROM GOGHAMBA CHOWKADI TOWARDS	CHHOTAUDEPUR	REGULAR	150	OPEN	DC	25	25	625	32	55	DRAW OF LOTS	15	5
601 602	DEVGADHBARIA ON SH150 ON LHS, FROM KM 34 TO KM STONE 43, ON SH63	VADODARA	REGULAR	120	OPEN OBC	DC CC	30 30	30 30	900	32	75	DRAW OF LOTS BIDDING	15 30	5
603	VILLAGE UMBER ON SH152 ON RHS, BETWEEN KM STONE 8 TO KM STONE 10, ON	MAHISAGAR	REGULAR	110	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
604 605	SH153 ON RHS, VILLAGE JALAT TOWARDS INDORE, ON NH47	PANCHMAHAL	REGULAR	150 160	OPEN OPEN	DC DC	30 35	30 35	900 1225	32 32	75 95	DRAW OF LOTS DRAW OF LOTS	15 15	5
606	FROM SAHOL TOWN TO HANSOT TOWN, ON NH	BHARUCH	REGULAR	200	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
607	WITHIN 1.5 KM FROM MALEGAON CHECK POST, SAPUTARA , ON NH360	THE DANGS	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
608 609	AT GORWA, ON MINIMUM 18 METER ROAD ON LHS, FROM KM STONE 138 TO KM STONE 135	VADODARA PANCHMAHAL	REGULAR	200	OPEN OPEN	DC DC	20 35	25 35	500 1225	32	75 95	DRAW OF LOTS DRAW OF LOTS	15 15	5
610	TOWARDS GODHRA, ON NH47 VADODARA CITY, WITHIN MUNICIPAL LIMITS ON MINIMUM	VADODARA	REGULAR	200	ОВС	DC	20	25	500	32	75	DRAW OF LOTS	15	4
611	18 METERS ROAD VILLAGE- JUNA KALAVA ON SH2	MAHISAGAR	REGULAR	100	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
612	ON RHS, VILLAGE BHAMAIYA TOWARDS DAHOD, ON NH47	PANCHMAHAL	REGULAR	180	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
613	FROM HOTEL POR PALACE TO AMAR CARS MARUTI SHOWROOM, ON NH48	VADODARA	REGULAR	250	OBC	сс	35	35	1225	32	12	BIDDING	30	4
614	FROM SUMANDEEP PHARMACY COLLEGE TO GSCSC WAGHODIA GODOWN, ON SH158	VADODARA	REGULAR	180	OPEN CC-1	DC	30	30	900	32	75	DRAW OF LOTS	15	5
615	BETWEEN GOTRI CIRCLE TO DECATHALON, ON SEVASI - SINDHROOT ROAD	VADODARA	REGULAR	230	OPEN	сс	20	25	500	32	12	BIDDING	30	5
616	ON RHS, WITHIN 1 KM FROM BIRSA MUNDA CIRCLE, DHARAMPUR TOWARDS NANAPONDA, ON NH56	VALSAD	REGULAR	220	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
617	WITHIN 4 KM OF KOHLER INDIA CORP PVT LTD, ON SH165	BHARUCH	REGULAR	230	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
618	FROM HOTEL REGENTA FAIRLARK VADODARA TO AARUNI RESIDENCY ON ATLADRA-GOTRI LINK ROAD	VADODARA	REGULAR	200	OPEN	DC	20	25	500	32	75	DRAW OF LOTS	15	5
619 620	AT MAKARPURA, ON MINIMUM 18 METERS ROAD ON RHS, VILLAGE SUTHARPADA TOWARDS NASIK, ON	VADODARA	REGULAR	200	OPEN ST	DC CFS	20 35	25 35	500 1225	32	75	DRAW OF LOTS DRAW OF LOTS	15 0	5
621	NH848 VILLAGE BORIAVI, ON NH64	ANAND	REGULAR	140	OBC	CC	35	35	1225	32	12	BIDDING	30	4
622	ON LHS, FROM NILAMBAR CIRCLE TO SARV MULTISPECIALITY HOSPITAL, ON VASNA ROAD	VADODARA	REGULAR	200	OPEN	сс	20	25	500	32	12	BIDDING	30	5
623 624	VILLAGE BARIPADA, ON NH360 VILLAGE LIMKHEDA, ON SH62	THE DANGS PANCHMAHAL	REGULAR	150 140	OPEN CC-2 OBC CC-1	CC DC	35 30	35 30	1225 900	32 32	12 75	BIDDING DRAW OF LOTS	30 15	5 4
625	FROM DEROL BUS STAND TO JAMBUSAR CHOWKDI, ON NH	BHARUCH	REGULAR	150	SC CC-1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
626	ON LHS, FROM HOTEL JYOTI TO HOTEL SHITAL, ON NH48	BHARUCH	REGULAR	250	OPEN	сс	35	35	1225	32	12	BIDDING	30	5
627	ON RHS, FROM HOTEL JYOTI TO HOTEL SHITAL, ON NH48	BHARUCH	REGULAR	250	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
628	ON LHS, WITHIN 5 KM FROM VASAD CHOWKDI TOWARDS ASODAR, ON NH751D	ANAND	REGULAR	155	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
629	ON LHS, VILLAGE HUDA, TALUKA KAPRADA, TOWARDS NASHIK, ON NH848 FROM SUSSEN CIRCLE TO SQUIRREL CIRCLE, ON SUSSEN	VALSAD	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
630	FROM SUSSEN CIRCLE TO SQUIRKEL CIRCLE, ON SUSSEN TARSALI RING ROAD FROM WAGHODIYA CHOWKDI TO JAMBUVA BRIDGE, ON	VADODARA	REGULAR	250	OPEN	DC	20	25	500	32	75	DRAW OF LOTS	15	5
631 632	NH48 FROM NENPUR CHOWKDI TO KHATRAJ CHOWKDI, ON SH3	KHEDA	REGULAR	240	OPEN	CC DC	35 30	35 30	900	32	12 75	BIDDING DRAW OF LOTS	30 15	5
633	FROM RAIPIPLA CHOWEDI TO KHATRAJ CHOWEDI, ON SH3	BHARUCH	REGULAR	360	OPEN	СС	30	30	1225	32	12	BIDDING	30	4 5
634	VILLAGE BEDVA, ON SH83	ANAND	REGULAR	110	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
635	BETWEEN AIRPORT CIRCLE TO GOLDEN CHOWKDI, ON HARNI ROAD ON LHS, FROM PALM GREENS RESORT TO HINDUSTAN	VADODARA	REGULAR	250	OPEN	DC	20	25	500	32	75	DRAW OF LOTS	15	5
636	COCA COLA BEVERAGES PRIVATE LIMITED - GOBLEJ, ON NH48 WITHIN 5 KM OF BAPS SWAMINARAYAN MANDIR - DABHOI,	KHEDA	REGULAR	150	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
637	ON SH63 WITHIN 1 KM FROM SIDUMBAR PRIMARY SCHOOL,	VADODARA	REGULAR	150	OPEN CC-1	DC	30	30	900	32	75	DRAW OF LOTS	15	5
638 639	SIDUMBAR ON DHARAMPUR-WILSON HILL ROAD VILLAGE ROHINI, ON SH6	VALSAD	REGULAR	150	ST OBC	CFS DC	30 30	30 30	900 900	0 32	0	DRAW OF LOTS DRAW OF LOTS	0	3
640	ON LHS, FROM ST. XAVIERS HIGH SCHOOL, JHAGADIYA TO HOTEL SURYA, ON SH64	BHARUCH	REGULAR	240	OPEN	сс	30	30	900	32	12	BIDDING	30	5
641	WITHIN 1 KM OF AKSHAR CHAR RASTA, VILLAGE KALALI	VADODARA	REGULAR	150	OPEN	DC	20	25	500	32	75	DRAW OF LOTS	15	5

			Type of RO		Category	Type of Site	Minimum E)imentsion (site in Sqm	in Mt)/ Area of 1.*	Finance to ap	be arraned by plicant	Mode of Selection		
SR NO	Location Name	Revenue District	Rural/ Regular			CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of lots/Bidding	Fixed Fee / Minimum Bid amount	Security Deposit
642	FROM VILLAGE VADTAL TO VILLAGE NARSANDA, ON SH60	KHEDA	REGULAR	140	овс	DC	30	30	900	32	75	DRAW OF LOTS	15	4
643	VILLAGE KALIBEL, ON SH172 FROM VALIA CHOWDI TO JAY AMBE INTERNATIONAL	THE DANGS	REGULAR	110	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
644	SCHOOL, ON SH13	BHARUCH	REGULAR	340	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
645	FROM CHAKLI CIRCLE TO GOTRI CIRCLE, ON MINIMUM 18 METERS ROAD	VADODARA	REGULAR	200	OPEN	DC	20	25	500	32	75	DRAW OF LOTS	15	5
646	ON RHS, WITHIN 1 KM FROM GUTAL CROSSING NADIAD TOWARDS PIPLAG CHOWKDI, ON NH48	KHEDA	REGULAR	150	OBC	сс	35	35	1225	32	12	BIDDING	30	4
647	FROM VILLAGE DHANPUR TO VILLAGE JESAVADA ON SH150	DAHOD	REGULAR	130	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
648	FROM JAMBUSAR CHOKDI TO BHARUCH INTERCHANGE OF DELHI MUMBAI EXPRESSWAY (DME) , ON SH6	BHARUCH	REGULAR	250	OPEN	сс	30	30	900	32	12	BIDDING	30	5
649	FROM RAJPIPLA CHOKDI TO GUJARAT BOROSIL LTD , ON SH64	BHARUCH	REGULAR	150	OPEN	сс	30	30	900	32	12	BIDDING	30	5
650	FROM RAVIRATNA MOTORS - AMOD TO UNANI HOSPITAL - DAYADARA, ON NH	BHARUCH	REGULAR	200	OBC PH	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
651	FROM PADRA TOWN TO MAHUVAD CROSSING, ON SH160	VADODARA	REGULAR	150	SC PH	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
652	ON LHS, FROM VILLAGE DAHEJ TO DAHEJ TOLL PLAZA, ON	BHARUCH	REGULAR	280	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
653	SH6 ON LHS FROM RAJPIPLA CHOWKDI TO HOTEL ROSE	BHARUCH	REGULAR	300	OPEN	сс	35	35	1225	32	12	BIDDING	30	5
654	GARDEN, ON NH48 ON LHS, FROM VILLAGE KAMREJ TO VILLAGE LASKANA ON	SURAT		200	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
655	SH167 FROM MULAD CHOKDI TO ST. XAVIER'S HIGH SCHOOL	BHARUCH	REGULAR	150	OPEN	СС	30	30	900	32	12	BIDDING	30	5
	JHAGADIYA, ON SH		REGULAR											
656	ON RHS, VILLAGE PIPLEJ TOWARDS KAWANT, ON SH62 FROM GOLDEN CHOWKDI TO WAGHODIA CHOWKDI, ON	CHHOTAUDEPUR	REGULAR	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
657	NH48 FROM ABACUS CIRCLE TO DUMAD CHOWKDI, ON SAMA	VADODARA	REGULAR	250	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
658	SAVLI ROAD	VADODARA	REGULAR	240	OBC	DC	20	25	500	32	75	DRAW OF LOTS	15	4
659	WITHIN 1 KM FROM NADIAD MAMLATDAR OFFICE, ON NH64	KHEDA	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
660	ON LHS, FROM SARSA CHOWKDI TO VILLAGE ODE, ON SH83	ANAND	REGULAR	140	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
661	FROM SHINOR CHOWKDI TO SEGVA CHOWKDI, ON SH175	VADODARA	REGULAR	150	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
662	ON RHS, WITHIN 2 KM FROM GODHRA BYPASS CIRCLE TOWARDS GADAKPUR, ON SH5	PANCHMAHAL	REGULAR	200	OPEN	сс	30	30	900	32	12	BIDDING	30	5
663	FROM VILLAGE BAUTHA TO VILLAGE DESAR, ON SH FROM LANCERS ARMY SCHOOL TO ABHVA CROSS ROAD ON	VADODARA	REGULAR	150	OPEN CC-1	DC	30	30	900	32	75	DRAW OF LOTS	15	5
664	VESU MAIN ROAD ON RHS, VILLAGE KANDAVA TOWARDS NASWADI, ON	SURAI	REGULAR	200	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
665	SH157 FROM ROLCON ENGINEERING CO. LTD. TO BORSAD	CHHOTAUDEPUR	REGULAR	120	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
666	CHOWKDI, ON SH83 WITHIN 3 KM FROM GANA BRANCH POST OFFICE, ON GANA-	ANAND	REGULAR	200	OPEN	сс	25	30	750	32	12	BIDDING	30	5
667 668	MOGRI ROAD	ANAND	REGULAR	150 150	OPEN OBC	DC DC	25 30	25	625 900	32 32	55	DRAW OF LOTS DRAW OF LOTS	15 15	5
669	FROM VILLAGE ZOZ TO VILLAGE MANDALVA, ON SH62 WITHIN 2 KM OF RTO CHECK POST, SAGABARA ON NH753B	CHHOTAUDEPUR NARMADA	REGULAR	240	ST	CFS	35	30 35	1225	0	0	DRAW OF LOTS	0	3
670	VILLAGE DEDARDA, ON NH64	ANAND	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
671	WITHIN NAGAR PALIKA LIMITS, KHAMBHAT ON LHS, FROM KHEDA TOLL PLAZA TO MATAR, ON NH48	KHEDA	REGULAR	210 180	OPEN OPEN	DC DC	25 35	25 35	625 1225	32	55 95	DRAW OF LOTS DRAW OF LOTS	15	5
673	FROM HOTEL NEELKANTH TO RAJPIPLA DWAR, ON SH160	NARMADA	REGULAR	150	OBC CC-1	DC	30	30	900	32	75	DRAW OF LOTS	15	4
674	ON LHS, VILLAGE BUHARI, TOWARDS UNAI, ON SH5	TAPI	REGULAR		ST CC-1	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
675	ON LHS, FROM ANAND INTERNATIONAL SCHOOL-MOGAR TO CHIKHODARA CROSSING, ON NH48	ANAND	REGULAR	150	OPEN PH	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
676	ON RHS, WITHIN 5 KMS FROM HALOL TOLL PLAZA TOWARDS VADODARA, ON SH87	PANCHMAHAL	REGULAR	150	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
677	ON RHS, FROM KHEDA TOLL PLAZA TO MATAR, ON NH48	KHEDA	REGULAR	180	OPEN	сс	35	35	1225	32	12	BIDDING	30	5
678	VILLAGE BHANER, ON SH59 ON LHS, FROM VILLAGE SANDHANA TO KHEDA TOLL PLAZA,	KHEDA	REGULAR	150	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
679	ON NH48 VILLAGE BHAMAIYA ON RHS TOWARDS AHMEDABAD, ON	KHEDA	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
680	NH47	PANCHMAHAL	REGULAR	170	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
681	ON LHS, WITHIN 2 KM FROM LADVEL CHOWKDI TOWARDS FAGVEL, ON NH47	KHEDA	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
682	ON LHS, WITHIN 4 KM FROM ASODAR CHOWKDI TOWARDS BORSAD, ON NH751D	ANAND	REGULAR	155	OPEN	сс	35	35	1225	32	12	BIDDING	30	5
683 684	FROM KM STONE 17 TO KM STONE 19 ON SH175 FROM DAHEJ TOLL PLAZA TO DELHI MUMBAI EXPRESSWAY (DME) INTERSECTION - BHARUCH, ON SH6	BHARUCH	REGULAR	110 110	ST OBC	CFS CC	30 30	30 30	900	0 32	0	DRAW OF LOTS BIDDING	0 30	3
685	ON RHS, WITHIN 1 KM FROM SAMARKHA CROSSING TOWARDS NATIONAL EXPRESSWAY 1 ANAND TOLL PLAZA,	ANAND	REGULAR	270	OPEN	сс	30	30	900	32	12	BIDDING	30	5
686	ON SH60 FROM VILLAGE KARJAN TO VILLAGE PALEJ, ON NH48	VADODARA	REGULAR	150	OPEN CC-1	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
687	FROM VILLAGE FULWADI TO RAJPIPLA TOWN, ON NH56	NARMADA	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
688	FROM HOTEL ROYAL INDIA TO DEVALIYA VILLAGE, ON SH63	NARMADA	REGULAR	150	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
689	WITHIN 2 KM FROM BHALEJ GENERAL HOSPITAL TOWARDS VILLAGE JAKHALA, ON SH60	ANAND	REGULAR	155	OPEN	сс	30	30	900	32	12	BIDDING	30	5
690	WITHIN 2 KM FROM BAKROL GOYA TALAV TOWARDS VADTAL, ON SH60	ANAND	REGULAR	150	OPEN	сс	30	30	900	32	12	BIDDING	30	5
691	ON LHS, BETWEEN KM STONE 120 TO KM STONE 117, ON NH47	PANCHMAHAL	REGULAR	200	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
692	FROM KM STONE 164 TO KM STONE 167, ON NH753B	NARMADA	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
693	ON LHS, FROM VILLAGE BORIAVI TO BHUMEL CHOWKDI WITHIN ANAND DISTRICT LIMITS, ON NH48	ANAND	REGULAR	170	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
694	ON LHS, WITHIN 1 KM FROM SAMARKHA CROSSING TOWARDS BARODA, ON NH48	ANAND	REGULAR	270	OPEN	сс	35	35	1225	32	12	BIDDING	30	5
695	AT BHAYLI, ON MINIMUM 18 METERS ROAD	VADODARA	REGULAR	150	OBC	DC	20	25	500	32	75	DRAW OF LOTS	15	4

			Type of RO		Category	Type of Site *	Minimum ()imentsion (site in Sqm	n Mt)/ Area of .*	Finance to ap	be arraned by plicant	Mode of Selection		
SR NO	Location Name	Revenue District	Rural/ Regular	Estimated Monthly Sales potential (MS+HSD) #	SC SC CC-1 SC PH ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN CC-1 OPEN CC-2 OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of lots/Bidding	Fixed Fee / Minimum Bid amount	Security Deposit
696	FROM VILLAGE VASNA BUJARG TO VILLAGE DHOLKA, ON SH16	KHEDA	REGULAR	120	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
697	VILLAGE AJARPURA, ON SH150 ON RHS, FROM ONGC CIRCLE TO PAL HAVELI, ON HAZIRA-	ANAND	REGULAR	120	OPEN	CC	30	30	900	32	12	BIDDING	30	5
698	ADAJAN ROAD	SURAT	REGULAR	200	OPEN	CC	20	25	500	32	12	BIDDING	30	5
699	FROM CIVIL COURT AMOD TO MATAR VILLAGE, ON SH161	BHARUCH	REGULAR	160	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
700	FROM HOTEL PRAGATI TO HOTEL ROYAL INN, ON NH56	NARMADA	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
701	ON LHS, VILLAGE DHAMDOD, TOWARDS VADODARA, ON NH48	SURAT	REGULAR	180	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
702	ON RHS, FROM VILLAGE DAHEJ TO DAHEJ TOLL PLAZA, ON	BHARUCH	REGULAR	200	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
	SH6 WITHIN 1 KM OF PRAMUKH SWAMI CHOWK, ON VED ROAD	SURAT		260	OPEN	DC	20	20	400	32	75	DRAW OF LOTS	15	5
703	ON LHS, FROM PALSANA TO VESMA, ON NH48	SURAT	REGULAR	240	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
705	VILLAGE WADI , TALUKA - UMARPADA ON NH56	SURAT	REGULAR	160	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
706	FROM VILLAGE GAVASAD TO MAHUVAD CROSSING ON SH	VADODARA	REGULAR	150	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
707	ON RHS, VILLAGE DIPLI TOWARDS SACHIN GIDC, ON NH53	SURAT	REGULAR	240	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
708	ON LHS, FROM LANGAR CIRCLE, DUMAS TO ONGC COLONY, ON SURAT - DUMAS ROAD	SURAT	REGULAR	200	OPEN	DC	20	25	500	32	75	DRAW OF LOTS	15	5
709	VILLAGE MATAVAL, ON NH753B FROM DABHA CHOWKDI JAMBUSAR TO HOTEL DECENT	TAPI	REGULAR	140	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
710	AMOD, ON NH FROM ONGC COLONY TO KEVAL CHOWK, ON SURAT -	BHARUCH	REGULAR	200	OBC OPEN	DC DC	35 20	35 25	1225 500	32	95 75	DRAW OF LOTS	15 15	4
712	DUMAS ROAD VILLAGE VIROL, ON SH60	KHEDA	REGULAR	100	OPEN CC-1	DC	30	30	900	32	75	DRAW OF LOTS	15	5
713	FROM VILLAGE JAMBUVA TO VILLAGE POR, ON NH48 ON LHS, FROM VILLAGE TOL TO VILLAGE INDRANAJ, ON	VADODARA	REGULAR	100	OBC	cc	35	35	1225	32	12	BIDDING	30	4
714	NH751D ON LHS, VILLAGE SAROLI, ON SURAT-BARDOLI ROAD	ANAND SURAT	REGULAR	115	SC OPEN	CFS CC	35 20	35 20	1225 400	0 32	0	DRAW OF LOTS	0 30	3
715	FROM VILLAGE KAMREJ TO VILLAGE KADODARA, ON NH48	SURAT	REGULAR	200	OPEN	DC	35	35	1225	32	95	BIDDING DRAW OF LOTS	15	5
717	FROM KAPURAI CHOWKDI TO VILLAGE KELANPUR, ON SH11	VADODARA	REGULAR	125	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
	ON LHS, FROM BAJIPURA TO VILLAGE TICHAKPURA ON			-										
718	NH53 FROM PALANPORE FIRE STATION TO PAL HAVELI, ON	TAPI	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
719	GAURAV PATH	SURAT	REGULAR	200	OPEN	сс	20	25	500	32	12	BIDDING	30	5
720	FROM HPCL HAZIRA LPG BOTTLING PLANT, ICCHAPORE TO MORA TEEN RASTA, ON NH53	SURAT	REGULAR	140	OPEN	сс	35	35	1225	32	12	BIDDING	30	5
721	ON RHS, FROM VALIA CHOWKDI TO MANGALMURTI BIOCHEM PVT ON NH48	BHARUCH	REGULAR	250	OBC	DC	35	35	1225	32	95	DRAW OF LOTS	15	4
722	ON LHS, VILLAGE NAVI PARDI, TOWARDS PALSANA ON NH48	SURAT	REGULAR	210	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
723	FROM ONGC CIRCLE TO MAGDALLA BRIDGE ON NH53	SURAT	REGULAR	220	ST CC-1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
724	FROM AMOD TOWN TO MULER CHOKDI, ON SH6 VILLAGE KOSAD ON OUTER RING ROAD SURAT	BHARUCH SURAT	REGULAR	150 170	OPEN CC-2 OBC CC-1	DC DC	30 30	30 30	900 900	32 32	75 75	DRAW OF LOTS DRAW OF LOTS	15 15	4
726	ON RHS, VILLAGE NANIBHAMTI, TOWARDS HANUMANBARI, ON NH56 FROM TALUKA SEVA SADAN, FULWADI TO VILLAGE DODVA,	NAVSARI	REGULAR	180	OPEN	сс	35	35	1225	32	12	BIDDING	30	5
727	ON SH198 FROM AKSHAR CHOWK TO SARDAR CHOWK, ON	VADODARA	REGULAR	130 200	ST OBC	CFS DC	30 20	30 25	900	0	0	DRAW OF LOTS	0	3
729	SUNPHARMA MAIN ROAD PUNAGAM, ON MIN 18 METER ROAD	SURAT	REGULAR	180	OPEN	DC	35	35	1225	32	75	DRAW OF LOTS	15	5
730	FROM SHREE SHYAM MANDIR TO AMBROSIA BUSINESS HUB, ON VIP ROAD	SURAT	REGULAR	200	OPEN	DC	20	25	500	32	75	DRAW OF LOTS	15	5
731	FROM BAPS SWAMINARAYAN MANDIR, ATLADRA TO DELHI MUMBAI EXPRESSWAY (DME) JUNCTION, ON PADRA ROAD	VADODARA	REGULAR	200	OBC	DC	20	25	500	32	75	DRAW OF LOTS	15	4
732	WITHIN 2 KM FROM ALINA CHOKDI TOWARDS MAHISA, ON	KHEDA	REGULAR	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
733	SH188 FROM PODAR INTERNATIONAL SCHOOL TO VALTHAN	SURAT	REGULAR	200	OPEN	DC	20	25	500	32	75	DRAW OF LOTS	15	5
734	CHOWKDI ON VALTHAN PUNAGAM ROAD WITHIN 500 METER OF DABHOLI BRTS BUS STAND	SURAT	REGULAR	320	OPEN	DC	20	25	500	32	75	DRAW OF LOTS	15	5
735	FROM RAJPARDI TOWN TO NETRANG TOWN, ON SH163	BHARUCH	REGULAR	160	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
736	ON LHS, VILLAGE GOPALPURA, TOWARDS AHWA, ON NH953	TAPI	REGULAR	180	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
737	FROM GOVERNMENT GENERAL HOSPITAL - VYARA TO JANAK SMARAK HOSPITAL, ON VYARA SONGADH ROAD	ΤΑΡΙ	REGULAR	170	OPEN	DC	20	20	400	32	55	DRAW OF LOTS	15	5
738	PANDESARA, ON MIN 18 METER ROAD	SURAT	REGULAR	200	OPEN CC-1	DC	20	25	500	32	75	DRAW OF LOTS	15	5
739	WITHIN KAPADWANJ WML, ON MINIMUM 18 METER ROAD WITHIN 2 KM OF DOSWADA BUS STAND TOWARDS KIKAKUI	KHEDA	REGULAR	150	OBC	DC	25	25	625	32	55	DRAW OF LOTS	15	4
740	ON NH53 - LHS	TAPI	REGULAR	160	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
741	VILLAGE SULTANABAD, BHIMPORE ON LHS, VILLAGE KOSAMBA, TOWARDS PALOD, ON NH48	SURAT	REGULAR	210	OPEN OPEN	CC DC	20 35	25 35	500 1225	32	12 95	BIDDING DRAW OF LOTS	30 15	5
				150										
743	FROM SANKET INDIA TO TOWN HALL CIRCLE, ON NH64 ON LHS, FROM BARDOLI TO PALSANA, ON NH53	ANAND SURAT	REGULAR REGULAR	150	OBC OPEN	DC CC	35 35	35 35	1225 1225	32 32	95 12	DRAW OF LOTS BIDDING	15 30	4
745	ON LHS, VILLAGE UCHHAL TOWARDS NAVAPUR, ON NH53	TAPI	REGULAR	180	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
746	ON LHS, VILLAGE ALIPORE, TOWARDS NAVSARI, ON NH48	NAVSARI	REGULAR	180	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
747	WITHIN 1 KM FROM SANGINI CIRCLE, ON MAIN ROAD	SURAT	REGULAR	200	OBC	DC	20	25	500	32	75	DRAW OF LOTS	15	4
748 749	ALTHAN, ON MIN 18 METER ROAD VILLAGE TARAJ TO PALSANA ON NH53	SURAT SURAT	REGULAR REGULAR	210 240	OPEN SC PH	DC CFS	20 35	25 35	500 1225	32 0	75 0	DRAW OF LOTS DRAW OF LOTS	15 0	5
749	FROM SUBHASH GARDEN CIRCLE TO HAZIRA SAYAN ROAD	SURAT	REGULAR	170	OBC PH	DC	20	25	500	32	75	DRAW OF LOTS	15	4
751	INTERSECTION, VIA D-MART JEHANGIRPURA ON RHS, VILLAGE ANGALDHARA TOWARDS PALGABHAN ON	SURAT	REGULAR	180	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
752	SH178 ON RHS, VILLAGE RUMKI TALAV TOWARDS NIZAR, ON SH80	TAPI	REGULAR	150	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
753	BARDOLI WITHIN TOWN LIMITS	SURAT	REGULAR	290	OBC	DC	20	25	500	32	55	DRAW OF LOTS	15	4
754	ON LHS, WITHIN 1 KM FROM PATHAKWADI BUS STOP TOWARDS UNAI, ON VYARA UNAI ROAD	TAPI	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

			Type of RO		Category	Type of Site	Minimum D	limentsion (i site in Sqm	in Mt)/ Area of *	Finance to ap	be arraned by plicant	Mode of Selection		
SR NO	Location Name	Revenue District	Rural/ Regular	Estimated Monthly Sales potential (MS+HSD) #	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC CC-1 OBC CC-1 OPEN CC-2 OPEN CC-2 OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of lots/Bidding	Fixed Fee / Minimum Bid amount	Security Deposit
755	ON LHS, FROM LAJPUR TO MAROLI ON SACHIN-NAVSARI ROAD	SURAT	REGULAR	130	OPEN	сс	30	30	900	32	12	BIDDING	30	5
756	ON LHS, VILLAGE TAJPOR KHURD, TOWARDS PALSANA, ON NH53	SURAT	REGULAR	180	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
757	ON RHS, FROM TIRUPATI CIRCLE TO DR. AMBEDKAR CHOWK	SURAT	REGULAR	280	OBC	DC	20	25	500	32	75	DRAW OF LOTS	15	4
758	ON RHS, VILLAGE TOKARVA TOWARDS HIRAVADI, ON NH953	TAPI	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
759	ON RHS, WITHIN 2 KMS OF PALSANA CHOWKDI , TOWARDS NAVSARI ON NH48	SURAT	REGULAR	180	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
760	ON RHS, WITHIN 1 KM FROM RANKUVA CHOWKDI TOWARDS CHIKHLI ON VANSDA-CHIKHLI ROAD	NAVSARI	REGULAR	130	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
761	FROM VR MALL CIRCLE TO OLIVE CIRCLE, ON UDHNA- MAGDALLA ROAD	SURAT	REGULAR	160	OPEN	DC	20	25	500	32	75	DRAW OF LOTS	15	5
762	WITHIN 2 KM OF SAFAL SQUARE, ON N M MAVANI ROAD	SURAT	REGULAR	170	OBC	DC	20	25	500	32	75	DRAW OF LOTS	15	4
763	ON LHS, FROM ONGC CIRCLE TO BHATA POLICE CHOWKI, ON HAZIRA-ADAJAN ROAD	SURAT	REGULAR	200	SC	CFS	20	25	500	0	0	DRAW OF LOTS	0	3
764	WITHIN 1 KM OF VAKA CHOWKDI, TALUKA NIZAR, ON SH80	TAPI	REGULAR	150	OPEN CC-1	DC	30	30	900	32	75	DRAW OF LOTS	15	5
765	WITHIN 500 METER OF VIJAY LAXMI HALL CIRCLE, VESU, ON VIP ROAD	SURAT	REGULAR	200	OBC	DC	20	20	400	32	75	DRAW OF LOTS	15	4
766	ON LHS, WITHIN 1 KM FROM SACHIN CHAR RASTA TOWARDS LAJPUR, ON SURAT NAVSARI ROAD	SURAT	REGULAR	170	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
767	ON RHS, VILLAGE AMBABARI, TOWARDS WAGHAI, ON VANSDA-WAGHAI ROAD	NAVSARI	REGULAR	160	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
768	ON LHS, VILLAGE TAJPORE BUJRANG, FROM NAVSARI TO BARDOLI ON SH88	SURAT	REGULAR	140	OPEN	DC	30	30	900	32	75	DRAW OF LOTS	15	5
769	FROM SACHIN CHARRASTA TO GAJERA VIDYABHAVAN ON STATION ROAD	SURAT	REGULAR	200	OBC	DC	20	25	500	32	75	DRAW OF LOTS	15	4
770	ON RHS, VILLAGE SARSANA, ON ALTHAN TO SARSANA ROAD	SURAT	REGULAR	220	OPEN	сс	20	25	500	32	12	BIDDING	30	5
771	FROM DINDOLI TO VILLAGE KHARVASA ON DINDOLI KHARVASA ROAD	SURAT	REGULAR	200	OPEN	сс	20	25	500	32	12	BIDDING	30	5
772	FROM VILLAGE KHAJOD TO VILLAGE DIPLI ON NH53 FROM RANOLI CHOWKDI TO DME (DELHI MUMBAI	SURAT	REGULAR	240	ST CC-1 OBC CC-1	CFS DC	35	35	1225	32	0 95	DRAW OF LOTS	0	3
774	EXPRESSWAY) JUNCTION ON NH48 WITHIN 5 KMS FROM SANKHEDA BUS STAND ON SH158	CHHOTAUDEPUR	REGULAR	110	OPEN	DC	25	25	625	32	55	DRAW OF LOTS	15	5
775	WITHIN 4 KM FROM BALDA TALAV TOWARDS NANAPONDA,	VALSAD	REGULAR	200	OPEN PH	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
776	ON NH848 WITHIN 1 KM OF KESARPADA CHOWKADI, ON SH80	TAPI	REGULAR	150	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
777	UDHANA, ON MIN 18 METER ROAD VILLAGE CHIKATIYA, ON NH953 FROM JB DIAMOND CIRCLE TO K.D. MEMORIAL HOSPITAL	SURAT THE DANGS	REGULAR	210 150	OBC OPEN	DC DC	20 35	25 35	500 1225	32 32	75 95	DRAW OF LOTS DRAW OF LOTS	15 15	4 5
779 780	FROM 3B DIAMOND CIRCLE TO K.D. MEMORIAL HOSPITAL, ON LAMBE HANUMAN ROAD FROM VILLAGE JAROD TO VILLAGE SAVLI, ON SH63	SURAT	REGULAR	240 160	OBC SC	DC CFS	20 30	25 30	500 900	32 0	75	DRAW OF LOTS DRAW OF LOTS	15 0	4
781	ON LHS, BETWEEN KM STONE 398 TO KM 380 ON NH48	VALSAD	REGULAR	250	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
782	WITHIN 3 KM FROM KALOL BUS STAND, TOWARDS GODHRA	PANCHMAHAL	REGULAR	160	OPEN	DC	25	25	625	32	55	DRAW OF LOTS	15	5
783	WITHIN RAIPIPLA TOWN LIMITS ON MINIMUM 18 METER ROAD	NARMADA	REGULAR	150	OPEN	DC	20	25	500	32	55	DRAW OF LOTS	15	5
784	FROM SWAMI VIVEKANAND CIRCLE TO GANDHI SMRITI ROAD INTERSECTION, ON JN TATA ROAD	NAVSARI	REGULAR	190	ОВС	DC	20	25	500	32	55	DRAW OF LOTS	15	4
785	ON LHS, VILLAGE MAJIGAM, TOWARDS CHIKHLI, ON NH48	NAVSARI	REGULAR	170	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
786 787	ON LHS, FROM VADODARA TOWARDS SURAT BETWEEN KM STONE 110 TO KM STONE 112, ON NH48 AT GOTRI, ON MINIMUM 18 METERS ROAD	VADODARA	REGULAR	240 150	OPEN OPEN CC-1	CC DC	35 20	35 25	1225 500	32 32	12 75	BIDDING DRAW OF LOTS	30 15	5
788	FROM R B PATEL TECHNICAL INSTITUTE TO GANDHI SMRITI ROAD INTERSECTION, ON CHHAPRA ROAD	NAVSARI	REGULAR	190	OBC	DC	20	25	500	32	55	DRAW OF LOTS	15	4
789	ON LHS, VILLAGE AAMBAVADI, TOWARDS ZANKHVAV ON SH166	SURAT	REGULAR	150	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
790	WITHIN ANKLESHWAR TOWN LIMITS ON MINIMUM 18 METER ROAD	BHARUCH	REGULAR	200	OPEN	DC	20	25	500	32	55	DRAW OF LOTS	15	5
791	ADAJAN, ON MINIMUM 18 METER ROAD	SURAT	REGULAR	210	OBC	DC	20	25	500	32	75	DRAW OF LOTS	15	4
792	WITHIN BHARUCH CITY ON MINIMUM 18 METER ROAD WITHIN 1 KM OF ADVENTURAA PARK ON 18 M SEVASI-	BHARUCH	REGULAR	150	OPEN	DC	20	25	500	32	55	DRAW OF LOTS	15	5
793	BHAYALI CANAL ROAD ON LHS, VILLAGE GHOLAR, TOWARDS RUMLA, ON SH177	VADODARA	REGULAR	150	OPEN	DC CFS	20	25	500	32	75	DRAW OF LOTS	15 0	5
794 795	ANYWHERE IN SURAT CITY WITHIN SMC	NAVSARI	REGULAR REGULAR	130 240	ST OBC	DC	30 20	30 25	900 500	0 32	0 75	DRAW OF LOTS DRAW OF LOTS	0 15	3
796	ON LHS, FROM VRUNDAVAN CHOWKDI TO SOMA TALAV CHAR RASTA, ON RING ROAD	VADODARA	REGULAR	200	OPEN	DC	20	25	500	32	75	DRAW OF LOTS	15	5
797	FROM MADHUVAN CIRCLE TO VIJYA LAXMI CIRCLE ON L P SAVANI ROAD	SURAT	REGULAR	230	OPEN	DC	20	25	500	32	75	DRAW OF LOTS	15	5
798	ON LHS, BETWEEN DHARAMPUR CHOWKDI TO GUNDLAV CHAR RASTA ON NH48	VALSAD	REGULAR	240	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
799 800	2ND VIP ROAD, ON VESU FROM SANKET INDIA-ANAND TO ELECON ENGG. PVT LTD., ON SARDAR PATEL ROAD	SURAT	REGULAR	180	OBC OPEN	DC CC	20 25	25 25	500 625	32 32	75	DRAW OF LOTS BIDDING	15 30	4 5
801	ON SARDAR PATEL ROAD ON RHS, FROM VILLAGE BORSAD TO VILLAGE BOCHASAN, ON NH751D	ANAND	REGULAR	150	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
802	WITHIN 2 KMS OF GAJERA CIRCLE, ON AMROLI ROAD WITHIN 1 KM FROM LIMBALI CHOWKDI TO SOJITRA, ON	SURAT	REGULAR	230	OBC	DC	20	25	500	32	75	DRAW OF LOTS	15	4
803	WITHIN 4 KM FROM PIJ CROSSING TOWARDS VASO, ON	ANAND	REGULAR	110	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
804	SH149 ON LHS, BARDOLI TO ENA ON NH53	KHEDA SURAT	REGULAR	150 150	OPEN OPEN	DC DC	30 35	30 35	900 1225	32 32	75 95	DRAW OF LOTS DRAW OF LOTS	15 15	5
806	FROM GAJERA CIRCLE TO ASHWINI KUMAR CIRCLE ON ASHWINI KUMAR ROAD	SURAT	REGULAR	230	OBC	DC	20	25	500	32	75	DRAW OF LOTS	15	4
807	ON LHS, VILLAGE DOSWADA, WITHIN 3 KM FROM MANDAL TOLL PLAZA TOWARDS SONGARH, ON NH53	TAPI	REGULAR	200	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
808	VILLAGE SARTHANA, ON GHADPUR ROAD FROM BHESTAN TO NH53 INTERSECTION ON UDHANA	SURAT	REGULAR	170	OPEN	DC	20	25	500	32	75	DRAW OF LOTS	15	5
809 810	SACHIN ROAD ON MOTA VARACHHA MAIN ROAD	SURAT	REGULAR REGULAR	180 260	OPEN OBC	DC DC	20	25 25	500 500	32 32	75	DRAW OF LOTS DRAW OF LOTS	15 15	5
811	NEW CITYLIGHT ON MIN 18 MTR ROAD	SURAT	REGULAR	240	OPEN	DC	20	25	500	32	75	DRAW OF LOTS	15	5

			Type of RO		Category	Type of Site *	Minimum D)imentsion (site in Sqm	in Mt)/ Area of n.*	Finance to ap	be arraned by plicant	Mode of Selection		
SR NO	Location Name	Revenue District	Rural/ Regular			CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of lots/Bidding	Fixed Fee / Minimum Bid amount	Security Deposit
812	FROM TOWN HALL CIRCLE TO BORSAD CHOWKDI, ON NH64	ANAND	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
813	WITHIN 2 KM FROM MAHARANA PRATAP CIRCLE TOWARDS MAHEMDAVAD, ON SH210	KHEDA	REGULAR	150	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
814	VILLAGE DELOL, ON SH5	PANCHMAHAL	REGULAR	150	OPEN CC-1	DC	30	30	900	32	75	DRAW OF LOTS	15	5
815	FROM KANGAROO CIRCLE TO DINDOLI CHAR RASTA VIA MAHARANA PRATAP CHOWK	SURAT	REGULAR	190	OPEN	DC	20	25	500	32	75	DRAW OF LOTS	15	5
816	ON LHS, VILLAGE JUDAVANT TOWARDS ALIRAJPUR, ON NH56	CHHOTAUDEPUR	REGULAR	200	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
817	FROM DUNGRI JAIN VIHAR DHAM, DUNGRI TO WITIN VALSAD DISTRICT LIMIT ON DUNGRI-BILIMORA ROAD	VALSAD	REGULAR	150	OBC	DC	30	30	900	32	75	DRAW OF LOTS	15	4
	TOWARDS BILIMORA													
818 819	ATHWALINES, SURAT FROM DOWNTOWN HYUNDAI-BORSAD TO SHREE RAM	SURAT	REGULAR	200	OPEN OPEN	DC CC	20 35	20 35	400	32	75	DRAW OF LOTS BIDDING	15 30	5
820	CIRCLE-BORSAD, ON NH64 FROM VILLAGE SEJPUR TO DEDIAPADA, ON NH753B	NARMADA	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
821 822	ON GHODDOD ROAD, SURAT VILLAGE DABHOLI, ON CAUSEWAY LINK ROAD	SURAT	REGULAR	190 180	OBC OPEN	DC DC	20 20	25 25	500 500	32 32	75 75	DRAW OF LOTS DRAW OF LOTS	15 15	4
823	FROM VILLAGE JHARPAN TO ARETH ON SH65, LHS	SURAT	REGULAR	150	OPEN CC-2	DC	30	30	900	32	75	DRAW OF LOTS	15	5
824	FROM PALANPUR JAKATNAKA CIRCLE TO MADHUVAN CIRCLE ON L P SAVANI ROAD	SURAT	REGULAR	190	OBC CC-1	DC	20	25	500	32	75	DRAW OF LOTS	15	4
825	FROM AMROLI CHAR RASTA TO HAZIRA SAYAN ROAD INTERSECTION ON SAYAN ROAD	SURAT	REGULAR	150	SC CC-1	CFS	20	25	500	0	0	DRAW OF LOTS	0	3
826	VADODARA CITY, WITHIN MUNICIPAL LIMITS ON MINIMUM 18 METERS ROAD	VADODARA	REGULAR	200	OPEN	DC	20	25	500	32	75	DRAW OF LOTS	15	5
827	WITHIN 1KM OF ZADESHWAR CHOWKDI ON NH48	BHARUCH	REGULAR	180	OPEN	DC	35	35	1225	32	95	DRAW OF LOTS	15	5
828	VILLAGE KATWARA ON NH47 FROM VILLAGE PANVAD TO VILLAGE KAWANT ON SH62	DAHOD	REGULAR	150 150	OBC ST	DC CFS	35	35	1225 900	32	95	DRAW OF LOTS DRAW OF LOTS	15 0	4
830	ON LHS, FROM KM STONE 45 TO 47, ON NH47	KHEDA	REGULAR	150	OPEN	CC	35	35	1225	32	12	BIDDING	30	5
831	AT MANJALPUR, ON MINIMUM 18 METERS ROAD	VADODARA	REGULAR	150	OPEN	DC	20	25	500	32	75	DRAW OF LOTS	15	5
832	WITHIN BHARUCH CITY, ON MINIMUM 18 METER ROAD FROM GOTRI CIRCLE TO ANANTA TRENDZ ON GOTRI-	BHARUCH	REGULAR	150	OBC	DC	20	25	500	32	55	DRAW OF LOTS	15	4
833	LAXMIPURA ROAD	VADODARA	REGULAR	150	OPEN	DC	20	25	500	32	75	DRAW OF LOTS	15	5
834	VILLAGE PETLAD, ON SH89 ON LHS,VILLAGE BHAGVANPURA TOWARDS NASWADI, ON	ANAND	REGULAR	150	SC OPEN	CFS DC	30 35	30 35	900	0 32	0 95	DRAW OF LOTS DRAW OF LOTS	0	3
	NH56 ON LHS, VILLAGE PANIYARI, FROM TRINITY MISSION													
836	SCHOOL TOWARDS VYARA COLLEGE WITHIN 2 KM FROM PRIME MULTI SPECIALITY HOSPITAL ON	TAPI	RURAL	140	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
837	CHAVAJ ROAD	BHARUCH	RURAL	130	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
838	ON LHS, WITHIN 2 KM FROM SARVODAY HIGH SCHOOL TOWARDS SEGVI, ON SEGVI - MAGOD ROAD	VALSAD	RURAL	120	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
839	VILLAGE HALOL TO VILL ARAD, ON HALOL ARAD ROAD ON LHS, VILLAGE NAVALIA, TOWARDS ALIRAJPUR, ON	CHHOTAUDEPUR	RURAL	150	OPEN OPEN	DC CC	30 30	30 30	900	16 16	35	DRAW OF LOTS BIDDING	5	4
	KAWANT-ALIRAJPUR ROAD ON RHS, WITHIN 1KM FROM RAJGADH CHOKDI TOWARDS											-		
841	BAKROL, ON RAJGADH BAKROL ROAD WITHIN 2 KM FROM PHC (PRIMARY HEALTH CENTER)	PANCHMAHAL	RURAL	100	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
842	HANMATMAL, TOWARDS GADI, ON HANMATMAL - GADI ROAD	VALSAD	RURAL	150	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
843	ON LHS,WITHIN 1KM FROM SANJELI BUS STAND TOWARDS SANTRAMPUR ON SANJELI-SANTRAMPUR ROAD	DAHOD	RURAL	120	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
844	ON RHS, VILLAGE PANDARWADA TOWARDS BAKOR ON DITWAS ROAD	MAHISAGAR	RURAL	130	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
845	ON RHS VILLAGE VALWADA ON VALWADA-ACHCHHARI ROAD	VALSAD	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
846 847	VILLAGE SANJELI ON SANJELI- JHALOD ROAD AT VILLAGE NAR, ON NAR-PETLAD ROAD	DAHOD	RURAL	130	OPEN	CC	30	30	900	16	6	BIDDING	10	4
848	WITHIN 1 KM FROM DEVA RAILWAY STATION TOWARDS	ANAND	RURAL	125	OBC	сс	30	30	900	16	6	BIDDING	10	3
849	VILLAGE MALATAJ, ON DEVA ROAD IN GUJARAT STATE, WITHIN 1 KM OF OTTA BUS STAND ON NAVAPUR PIMPALNER ROAD, TOWARDS VILLAGE OTTA, TALUKA - SONGADH	TAPI	RURAL	150	OPEN CC-1	сс	30	30	900	16	6	BIDDING	10	4
850	WITHIN 2KM FROM KHODIYA PRIMARY SCHOOL TOWARDS	CHHOTAUDEPUR	RURAL	100	OPEN	сс	30	30	900	16	6	BIDDING	10	4
851	VILLAGE PALSAR ON PALSAR RURAL ROAD ON LHS, FROM GUNASDA HELIPAD TO SONGARH TOWN,	TAPI	RURAL	150	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
	ON BORISAVAR-SONGADH ROAD FROM POLICE CHOWKI KOYALI TO GORWA ITI CROSS ROAD,	VADODARA												
852	ON GUJARAT REFINERY ROAD ON RHS. WITHIN 1.5 KM FROM AVADH UTHOPIA GATE NO 2		RURAL	140	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
853	TOWARDS PARIYA ON TUKWADA -PARIYA ROAD ON RHS, FROM SANJAN TO NARGOL COSTAL HIGHWAY JUNCTION TOWARDS KHATALLWADA, ON SANJAN -	VALSAD	RURAL	100	OPEN	DC DC	30 30	30 30	900	16 16	35	DRAW OF LOTS	5	4
857	KHATALLWADA ROAD ON LHS, WITHIN 1 KM FROM KANJAN RANCHOD CHAR	VALSAD	RURAL	100	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
858	RASTA TOWARDS KAPARIA, ON VALSAD - MARLA ROAD ANYWHERE IN VASAD, WITHIN TOWN LIMITS	ANAND	RURAL	100	OPEN CC-2	DC	30	30	900	16	35	DRAW OF LOTS	5	4
858	WITHIN 5 KM OF MAMLATDAR OFFICE LIMKHEDA, ON	DAHOD	RURAL	100	OPEN CC-2 OBC CC-1	DC	30	30	900	16	35	DRAW OF LOTS	5	3
860	LIMKHEDA DHANPUR ROAD VILLAGE SANTOKPURA, ON PETLAD-BORSAD ROAD	ANAND	RURAL	100	SC CC-1	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
861	VILLAGE PUNAT, ON PUNAT-ANGAM-SARIGAON ROAD	VALSAD	RURAL	100	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
862	WITHIN 1 KM OF NH64 INTERSECTION TOWARDS PETLAD, ON PETLAD-BORSAD ROAD FROM NH48 JUNCTION TO POLY PLAST CHEMI PLANTS, ON	ANAND	RURAL	150	OPEN	сс	30	30	900	16	6	BIDDING	10	4
863	POR-KAYAVAROHAN ROAD	VADODARA	RURAL	140	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
864	ON LHS, VILLAGE BAROLI TOWARDS TANAKHALA ON TANAKHALA BAROLI ROAD	CHHOTAUDEPUR	RURAL	90	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
865	WITHIN 1 KM FROM DALI CHOWKDI TOWARDS BORSAD ON BORSAD-DHUVARAN ROAD	ANAND	RURAL	135	OPEN	сс	30	30	900	16	6	BIDDING	10	4
866 867	VILLAGE GHODASAR, ON MODAJ ROAD VILL RANDHIKPUR, ON PIPLOD-RANDHIKPUR ROAD	KHEDA DAHOD	RURAL	100 100	OPEN OBC	CC DC	30 30	30 30	900 900	16 16	6 35	BIDDING DRAW OF LOTS	10 5	4
868 869	WITHIN 2 KM FROM DANDARA POST OFFICE VILLAGE KANVADA, ON KANVADA-TARAPUR ROAD	KHEDA ANAND	RURAL	140 120	OPEN SC	DC CFS	30 30	30 30	900 900	16 0	35	DRAW OF LOTS DRAW OF LOTS	5	4
885	BETWEEN LUDBAY AND VILLAGE HAJIPIR, ON ROAD LUDBAY TO HAJIPIR VIA PANELA	KUTCH	RURAL	70	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
886	VILLAGE DARSALI ON DARSALI NAGICHANA ROAD	DEVBHUMI DWARKA	RURAL	80	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3

			Type of RO		Category	Type of Site *	Minimum D	imentsion (site in Sqm	in Mt)/ Area of *		b be arraned by oplicant	Mode of Selection		
SR NO	Location Name	Revenue District	Rural/ Regular	Estimated Monthly Sales potential (MS+HSD) #	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC CC-1 OBC CC-1 OPEN CC-1 OPEN CC-2 OPEN PH	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of lots/Bidding	Fixed Fee / Minimum Bid amount	Security Deposit
900	BETWEEN DHARI AND DALKHANIA, ON DHARI-DALKHANIA ROAD	AMRELI	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
901	BEETWEEN MOTA ANKADIYA AND BAMBHANIYA, ON MOTA ANKADIYA-BAMBHANIYA ROAD VIA LUNIDHAR	AMRELI	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
902	IN VILLAGE CHHASIYA, ON CHHASIYA VINCHIYA ROAD	RAJKOT	RURAL	75	OPEN CC-1	DC	30	30	900	16	35	DRAW OF LOTS	5	4
903	WITHIN 5 KM FROM SBI BRANCH ROHISHA ON VADHERA ROAD OR BHADA ROAD	AMRELI	RURAL	70	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
904	WITHIN 5 KM FROM POWER STATION AT GUJARAT SIDHEE CEMENT LIMITED, TOWARDS THARELI	GIR SOMNATH	RURAL	70	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
905	BETWEEN KM STONE 1 TO 3 ON OLD GHUNTU ROAD	MORBI	RURAL	90	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
906	BETWEEN KOVAYA AND LOTHPUR ON KOVAYA-LOTHPUR ROAD	AMRELI	RURAL	115	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
907	VILLAGE - DEVKA, TALUKA - RAJULA	AMRELI	RURAL	70	OBC	CC	30	30	900	16	6	BIDDING	10	3
908	VALLABHNAGAR VILLAGE ON MENDRADA AMBALA ROAD	JUNAGADH	RURAL	70	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
909	VILLAGE - GADHAKADA, TALUKA - SAVARKUNDLA	AMRELI	RURAL	70	OPEN	CC	30	30	900	16	6	BIDDING	10	4
910	ON KANGSIYALI ROAD BETWEEN KK JADEJA CHOWK AND VILLAGE DHOLRA	RAJKOT	RURAL	75	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
911	IN VILLAGE SHAPAR NOT ON NH/SH	RAJKOT	RURAL	150	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
912	AMBALA VILLAGE ON MENDRADA DEDAKIYAL ROAD	JUNAGADH	RURAL	80	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
913	IN VILLAGE SHIVRAJGADH, ON ROAD CONNNECTING VILLAGE DEVCHADI- MANDAN KUNDLA	RAJKOT	RURAL	75	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
914	VILLAGE TIMBDI, ON ROAD FROM NH 27 TO SUNLEX FABRICS INDUSTRY	MORBI	RURAL	95	OPEN	DC	20	20	400	16	35	DRAW OF LOTS	5	4
915	BETWEEN VILLAGE RAVKI AND MAKHAVAD, ON MAVDI - RAVKI ROAD	RAJKOT	RURAL	75	OBC PH	DC	30	30	900	16	35	DRAW OF LOTS	5	3
916	VILLAGE NANI BHALSAN ON BHALSAN BERAJA ROAD	JAMNAGAR	RURAL	95	SC PH	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
917	SAMOR VILLAGE ON SAMOR KHAMBHALIA ROAD	DEVBHUMI DWARKA	RURAL	80	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
918	VILLAGE ANANDPAR ON ON ANANDPAR - JAMSAR ROAD	MORBI	RURAL	95	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
919	VILLAGE MATEL ON MATEL JAMSAR ROAD	MORBI	RURAL	95	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
920	WITHIN 2KM FROM SUBSTATION ON AXLE ROAD KALYANPUR VILLAGE ON KALYANPUR JAMDEVILIYA ROAD	MORBI DEVBHUMI DWARKA	RURAL	95 80	OPEN ST	DC CFS	30 30	30 30	900	16 0	35	DRAW OF LOTS	5	4
922	BETWEEN AMRAN AND RAJPAR ON AMRAN RAJPAR ROAD	MORBI	RURAL	90	OPEN	DC	20	20	400	16	35	DRAW OF LOTS	5	4
923	DHANDHUSAR VILLAGE, ON DHANDHUSAR JUNAGADH	JUNAGADH	RURAL	80	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
924	ROAD JAM RAVAL VILLAGE ON JAM RAVAL TANKARIA ROAD	DEVBHUMI DWARKA	RURAL	80	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
925	VILLAGE BELA RANGPAR ON KHOKHARA HANUMAN ROAD	MORBI	RURAL	90	sc	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
926	VILLAGE ADITYANA ON ADITYANA RANAVAV ROAD	PORBANDAR	RURAL	80	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
927	BHATIYA VILLAGE ON BHATIYA KHAMBHALIA ROAD	DEVBHUMI DWARKA	RURAL	80	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
928	DHRASANVEL VILLAGE, ON NAGESHWAR ROAD	DEVBHUMI DWARKA	RURAL	70	OPEN CC-1	DC	30	30	900	16	35	DRAW OF LOTS	5	4
929	BARULA GIR VILLAGE ON GADU JUNGAR ROAD	JUNAGADH	RURAL	80	OBC	DC	30	30	900	16	35	DRAW OF LOTS	5	3
930	WITHIN 7 KM FROM VILLAGE ARNEJ POST OFFICE, TALUKA KODINAR ON ANY VILLAGE ROAD	GIR SOMNATH	RURAL	70	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
931	VILLAGE - ALIDAR, TALUKA - KODINAR, ON KODINAR- HARMDIYA ROAD VIA ALIDAR	GIR SOMNATH	RURAL	70	OPEN	DC	30	30	900	16	35	DRAW OF LOTS	5	4
932	VILLAGE PANANDHRO, TALUKA LAKHPAT	KUTCH	RURAL	70	OPEN	DC	35	35	1225	16	35	DRAW OF LOTS	5	4

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

* The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available in the Corporation Website www.hindustanpetroleum.com / www.petrolpumpdealerchayan.in) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 27/09/2023

Type of RO	Type of Site	Category	Application fee in Rs.	Type of RO	Type of Site	Category	Application fee in Rs.
	CFS	SC/ST	3000		CFS	SC/ST	2500
	CC	OBC	5000		CC	OBC	4000
Regular ROS	CC	Open	10000	Rural ROs	CC	Open	8000
	DC	OBC	5000		DC	OBC	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above

The tenure of the dealership shall be for an initial period of 10 years and renewable every 10 years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailles, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For purchase of Brochure and any information with regard to the advertisement, candidates may contact the following address:-

Hindustan Petroleum Corporation Limited Ahmedabad Retail Region, Petroleum House, Behind Memnagar Fire Station, Navrangpura, Ahmedabad-380009. Gujarat Contact Nos: 079-27910751, 9898672944	Ahmedabad, Aravali, Banaskantha, Bhavnagar, Bathod, Gandhi Nagar , Mehsana , Patan, Sabarkantha , Surendranagar
Hindustan Petroleum Corporation Limited, Baroda Retail Region, 1st Fioor, HP Petrol Pump, Near Charbhuja Complex, Water Tank Koad, Ambaial Park, Kareilbaug, Vadodara-390018. Gujarat Contact Nos: 0265-2463781, 0265-2463782	Anand, Bharuch, Chhotaudepur, Dahod, Kheda, Mahisagar, Narmada, Navsari, Panchmahal, Surat, Tapi, The Dangs, Vadodara, Valsad
Hindustan Petroleum Corporation Limited, Rajkot Retail Region, 1 st Floor, Tel Bhawan, HPCL Petrol Pump, University Road, Rajkot-360005. Gujarat contact no 0281-2579025,2579024	Rajkot, Amreli, Porbandar, Morbi, Kutch, Devbhumi Dwarka, Gir Somnath, Jamnagar, Junagarh